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I. Compensatory Damages: Paying for Harm:
A. The Basic Principle: Restoring π to his rightful position.

1. Why award damages in the first place?

i. Corrective Justice Theory.  It’s about right and wrong.  Theories of private property go all the way back to Aristotle.  As long as you do not harm others with your property, you should have the right to have it; it is never ok to breach your promises.

ii. Economic Theory.  Economic argument is about efficiency, not right and wrong.  It is about not causing people to over-invest in the protection of their property.  Economists say that sometimes it is good to breach K b/c it creates more wealth.  

2. Rightful Position Standard: Compensatory damages are designed to put P in the rightful position (position P would have been in but for the wrong).
a. Though, in reality P is rarely placed back in actual rightful position b/c personal value of property may be higher than market value.
3. Hatahley: Dispute between U.S. Gov and Navajo Indian Tribe over horses belonging to tribe.  Gov took the animals and sold them for glue w/o notice and opportunity to be heard, b/c animals were trespassing on gov’s land.  District judge awarded three kinds of damages: (1) replacement of value of the animals taken, $395 each; (2) mental pain & suffering – Ps were deprived the use of their animals, $3500 for each member of the tribe; (3) compensation for diminution in value of the other chattels (sheep) b/c tribe d/n have horses to help herd the sheep so some wandered off.
a. Issue: How do we value the losses to plaintiff (tribe)? How much damages should gov pay?
b. Holdings: Judge should have used (1) market value for lost property; (2) individualized determination of pain & suffering; and (3) P is required to prove damages w/ sufficient certainty.
i. Judge found that horses and mules may have a market value, but these particular horses and mules were specially trained, so they have a value of $350, which was much higher than market value for a typical horse.
A) Judge simply accepted measure of value from P’s perspective; P testified at face value P’s testimony about how much these horses were worth.  Court held judge must look at market value.
B) Court held that measure of value should not be from individual’s perspective, not based on personal or idiosyncratic value, but only on market value

ii. Judge treated tribe as though it were a total unit, and divided pain and suffering among them all.  Judge reasoned that he could not do an individualized inquiry into P & S b/c it was impossible to know who suffered more or less.
A) Court held that individualized inquiry is required.
iii. Judge found that half of the diminution in size of the sheep herd resulted from loss of horses that were used to herd the sheep.
A) Specific evidence and precision was lacking.  Court held that damages have to be proven with certainty, specificity or reasonable precision; c/n just guess

B. Value as the Measure of the Rightful Position:
1. How to measure Market Value: Two kinds of disputes arise in relation to market value:
a. What is the proper measure of market value (in this case)?;
i. Primarily an evidentiary question; comes up in many types of claims (K, tort, property)
ii. If it is a serious dispute (with lots of money at stake), parties can bring in experts.
iii. P would say market value is high; D would say market value is low.
b. Is market value the proper measure of damages?
i. Conceptual – though sometimes evidentiary – question.
ii. A party would argue that market value is not even the correct value of damages.  Sometimes we c/n use market value b/c there is no market or market is not well functioning.
A) E.g., pain and suffering damages; there is no market where we know people will take this much money to have pain inflicted upon them.
2. Rule: Use market value, and apply it in an administratively simple way.  U.S. v. Fifty Acres of Land – U.S. condemned 50 acres comprising a landfill in Duncanville, TX.  This was a taking, as in Hatahley, and gov acknowledges that it has to give just compensation.  US wants to write a check for fair market value of the landfill, which was $225,000.  P wants gov to pay cost of setting up a new (substitute) landfill, which is $723,000.
a. Issue: Whether just compensation is (1) the market value of landfill or (2) city’s cost of buying a replacement dump.  What is the proper measure of market value?
i. P argues that market value is not the proper measure here b/c to put P in the rightful position P would have been in if gov d/n take P’s land, P would need enough money to set up a substitute landfill.  As a city, P is legally required to provide a landfill for the city’s trash.  The cheapest substitute P could find cost $723K, while market value was only $225K.  There is also no problem of proof; P could prove that they spent $723K on replacement landfill.
ii. D argues that replacement landfill was better than old one b/c it is larger and would last 28 years longer than old landfill; thus, substitute facility is more valuable.
A) Court said this windfall concern could be alleviated by discounting cost of substitute to account for its superior quality.
b. Holding: Market value of lost thing not its replacement remains appropriate measure b/c market is working in this case; old landfill would have lasted 13.3 years while new one will last 41.6 years; difference in value = $723K x 13.3/41.6 = $231K.  This is close to the appraised market value of old landfill ($225K), which means what trial judge awarded ($225K) was fair, but even if discounted value was not close to market value, market value is still the right measure.
i. When there is a working market for P’s harm, court uses market value even if P has procured a substitute b/c court discounts procured substitute to reflect comparable value, “[t]here is a practical risk that the entire added value will not be calculated correctly.  Moreover, if it is correctly estimated, the entire process may amount to nothing more than a roundabout method of arriving at the market value of the condemned facility.”
ii. Unless there is a good reason to deviate from market value—such as a harm that has no value, like taking a city sewer line—use market value of what was taken b/c other method—substitute facility discounted to be equal to what was taken—will lead to the same place, but leads to more chances of error.
3. Rule: Use market value and put P in the rightful position in the least expensive way for D.  Jacob & Youngs v. Kent – D hired P contractor to build house for him.  K specified that only Reading pipe can be used.  Instead of Reading pipe, P used Cohoes pipe.  Cohoes and Reading are identical in every way.  Pipes are not an aesthetic feature of the house—they are in the wall.  D refused to pay P the full K price.  D counters for cost of ripping Cohoes pipe out of wall and replacing them w/ Reading.
a. Issue: Should compensatory damages for harm of having identical pipes made by a different manufacturer from pipes specified in K be measured by difference in market value, which will be $0, or by the replacement cost, which will be $300,000?
b. Holding: Cardozo said that P gets difference in market value, $0.
i. Court will choose cheapest means.  Sometimes cheapest means will be using market value, sometimes it will be repair and replacement.
ii. Hypo: Builder builds house for Owner.  Everything is perfect, but Builder d/n put roof on the house.  Market value of house w/o roof is $30,000.  Cost of putting on roof is $5,000.  Complete house w/ roof would be worth $100,000.  Instead of awarding difference in market value b/w contracted-for house w/ roof ($100,000) and delivered house w/o roof ($30,000) for a total of $70,000, court will award cost of repair or $5,000.
4. Market not functioning (anomaly where market is not working to create a similar value b/w market price and cost of replacement):
a. King Fisher: P bought a used barge for $30K to make it into a dry dock.  Two days later, D owned a tugboat that negligently sunk the barge while towing it.  Trial court awarded replacement damages of $230K.
i. Issue: If market value of barge before sinking was $30K, how can court award $230K?
ii. Holding: Court said $30K did not really represent market value.  There were only 6 of these type barges left in the world.  If $30K represented market value, either P or D probably would have bought another barge to replace sunk one.  It would have been a hell of a lot cheaper to buy replacement than to repair sunk barge for $230K.  Also, original owner of the barge sold it for way under market value.

b. Hypo: You have an old but reliable car – 1983 AMC pacer.  If you tried to sell it, you would get $1000 b/c it is rusty.  But it is reliable.  You get into an accident, but it is not your fault.  Insurance will write you a check for BB value, $1000.  If you want to get a substitute car that is equivalent to what you had, it will cost you more than $1000.
A) Market for used cars d/n work very well.  It is hard to know (even w/ inspection) when you buy a used car if you are getting a reliable old car or a lemon.
B) Buyer of used car might be willing to pay $3K if car was working well, but would offer less based on risk that it might be a lemon.  Seller of reliable used car might not sell it if buyer’s offer is too low b/c he knows car is reliable
C) So, we develop a “market for lemons.”  There are mostly lemons in market b/c people w/ better quality cars d/n want to participate in market b/c price is so low since people are only willing to pay low price for fear of getting a lemon.  That leaves only lemons in market, so you are willing to pay even less.
c. So, where the market is not working well, as in the used car market, we end up w/ situation where market value is going to be less than it will take to put you in rightful position.  So, a non-functioning market can be under-compensatory.
i. Sometimes courts say too bad and still award market value.  Same thing with a pet.  You will get market value.  You will also not be able to get emotional distress for loss of pet.
5. How to measure damages where there is no market for the harm (and intro to present value).
a. Trinity Church: Historic stone mason church built in 1870s.  Near by, John Hancock builds a tower, and lateral support is not good enough.  Church foundation starts to settle unevenly.  Church breaks into two pieces internally, but no one can tell by looking at it.  Engineer said that before John Hancock tower was built, church was about 26% of the way towards falling apart, and church had been around for 100 years.  We can calculate useful life of church as about 400 years.  But excavation took church from 26% to 65% towards its knock-down point.  So, church will last another 150 years, instead of another 300 years.
i. There is no market for churches.  It is not like there are 1000 parishioners walking around with nowhere to pray.  This is special purpose land, like a sewer or a street.  It is even more so b/c it is a protected historic landmark so you can’t take the church down and build an office building on it.
A) Repair or replacement cost.
B) Was it cost of repairing or replacing now or in 150 years?
1) Though there is harm, it is not harm church is suffering right now
ii. Rightful position measure discounted by present value: Give church amount of money today so that they invest it and in 150 years they have right amount of money for repairs.

6. How to measure damages where market value fluctuates over time.
a. Decatur: P contracted with D for D to spray insecticide on P’s bean crops.  D sprayed negligently, and P’s crops were damaged.  P held on to harvested beans for almost a year before selling them, as he figured that price would go up.  This was P’s usual practice.  So, we know how many bushels less P harvested because of D’s negligence.
i. Issue: Since market for beans fluctuates, at what point in time do we measure market value of bushels of beans that were lost due to D’s negligence?
A) Market value of crops at time of planting was $0 b/c beans still needed to grow.  This is when D’s wrong actually occurred.  But we measure market value at time of harvest, which was $7.

ii. Holding: Must use market value at time of harvest even if P can prove that P’s typical practice is to hold crops for one year.

A) Problem of speculation: If price had actually gone down after one year, P would argue for using price at time of harvest

C. Reliance and Expectancy as Measures of the Rightful Position.

1. Measuring rightful position or expectancy damages
a. Usual market values:
i. Market value of lost or destroyed item.
ii. Difference b/w value of an item before and after it was damaged.
iii. Difference b/w what was promised and what was received.
b. Sometimes, there are conceptual problems, especially when there is no good market.

2. Formulas for rightful position measure of value: Sullivan – P is woman who went to D doctor for nose job.  D promised P a perfect nose, but he botched job and her nose is permanently worse.  Jury found no negligence, and so no tort damages could be awarded – only contract damages
a. Reliance Damages [the standard measure of damages in Tort]
i. Reliance Damages Money-Line: Think of a line from Point A to Point B as literally representing dollars.  Point B is where the P was in before any wrong [the ex-ante position].  In relation to D’s wrong, it is $0.  But then D operates on P’s nose, and now nose is worse.  So, if Position B represents $0, Position A is a position below $0 [meaning P is financially worse off than ex-ante position].
ii. The formula is: Point B – Point A = Reliance Damages

b. Expectancy Damages [the standard measure of damages in K]
i. Method of calculation: In K cases, we are not comparing positions B and A, the position before versus what was received.  Rather, we are comparing what was promised versus what was received; Point A vs. Point C.
ii. Formula is: Point C – Point A = Expectancy Damages.
iii. Portion of money-line from Point B to Point C represents expected extra value [of the k].
c. Holding: Court created an exception to rule (that only expectancy damages are awarded for breach of K), and said the correct measure here is reliance damages.  This was for policy reasons of wanting doctors to be optimistic in talking to patients.
3. How to choose Reliance v. Expectancy Damages:
a. Expectancy Damages and the Tort of Fraud: Only in tort cases of fraud does the Position C exist.  In those cases, we could have Expectancy Damages, Position C – Position A.
b. Neri v. Retail Marine [Lost Volume Seller]: Ps husband and wife ordered a boat from D Retail Marine.  Later, P wife got cancer and Ps knew they could not pay for boat.  Ps tried to cancel K with D.  Later, D sold boat to another buyer for same price but refuses to return any of money Ps had already paid towards boat.  Ps sue, claiming that D has no damages b/c it resold boat for same price.  D says it lost out on volume sale.
i. Lost Volume Seller: Retail Marine can sell boats all day long (unlike private party seller)
1) Position C: Profit D Marine was to make on boat is $2,579 (sale price [K price] minus cost of boat [D had to buy boat and add some kind of mark-up]).  Point C is $2,579.

2) Position B: Position D was in relative to P husband and wife before this happened, which is $0.

3) Position A: -$674.  Figure represents costs D incurred after breach when they searched for new buyer.  Insurance, storing the boat, etc.

ii. Holding: D is entitled to keep $3,253 of P’s deposit and must refund the rest (otherwise, D would be unjustly enriched)
c. Ricketts: Grandfather promised granddaughter that he would give her money.  She quit her job.  There was no consideration for the promise, but there was reliance.

i. Many courts today will let reliance substitute for consideration or even substitute for writing in statute of frauds.

ii. However, many courts will only allow P to recover reliance damages when P has used reliance to substitute for consideration or a sufficient writing under statute of frauds.
4. Compare effect of bringing a K claim with effect of bringing a tort claim.

a. Chatlos: Defendant NCR sold computer system to P, a retailer.  D promised a system that would function in a certain way.  When system arrived, it did not perform according to certification.  Therefore, it was worth a lot less than promised.  P sued for amount it would cost to buy a system that performed to level of D’s promise.
i. Positions on Expectancy Time-Line:
A) Position B: Before transaction, P was in Position B, which is $0 relative to D.

B) Position C: P entered into K with D that said P will pay $46K and get a computer system that does certain functions.  Trial court later determined that a computer system that actually does those functions is worth $207K.  Position C, the expected position, is $207K – $46K = $161K.
C) Position A: After transaction, P was left w/ a computer that was worth only $6K.  Not only did P not get what D promised, P did not even get value of what they paid.  P paid $46K and got a system worth $6K.  Position A is  $6K – $46K = –$40K.
ii. This is a typical K case where we will use Expectation Damages, Position C – Position A, to give P the benefit of the bargain.  This is not an exception like Rickets, where we use Reliance Damages.
A) If P is awarded reliance damages, we would want to put P in same position as though P had never entered into the transaction; this would be just $40K
B) But P expectancy damages (or the benefit of the bargain), would be Position A – Position C = $161K – -$40K = $161K + $40K = $201K.
b. Smith v. Bolles: P sued D b/c D offered him shares of stock which D represented were worth $10 per share.  D offered shares to P at $1.50 per share.  P bought 4,000 shares.  In fact, the shares were worthless.  P sues D based on the $10 promise.
i. What are the positions?

A) Position B is always $0 relative to D.

B) Position A is the position after the wrong.  Here, P paid money for shares ($1.50 x 4,000 = $6,000) and received worthless paper in return.  Position A is –$6,000.
C) Position C = the expected benefit of the bargain.  Here, P believed he was paying $6,000 and would receive a value of $8.50 per share profit x 4,000 shares = $34,000.
ii. This sounds like buyer in Chatlos who was going to spend $46K and get computer worth $207K.  Here, P thought he would spend $6K and immediately turn around and sell for $40K
A) But Smith court held buyer can only get Reliance Damages, not Expectancy Damages.  Buyer only gets $6,000.
B) In both Chatlos and Smith, D promises P the moon.  In both cases, P winds up worse than where he started.  However, Chatlos was a contract case, where P was awarded expectancy damages; Smith was a tort case, where P was awarded only reliance damages
1) This does not seem fair.  To win on tort claim, P must prove scienter—that D was knowingly making false statement of fact.  In K case, it is strict liability.  So, we have a worse actor in Smith than Chatlos, but we are making the tortfeasor pay much less damages than the contract breacher.
2) Smith d/n sue for breach of K: maybe he c/n prove there was a K (if no writing), contract claim was barred by SoL, or lawyer wanted to aim for punitive damages.

c. In CA, if you sue fiduciary for fraud in purchase, sale or exchange of property, you get expectation damages (or the benefit of the bargain), but if D is not a fiduciary, it is undecided whether you get expectation or reliance damages – traditional rule is reliance in tort cases.
D. Consequential Damages:
1. Buck: P leased a pasture from D for 5 years at a rate of $125 per year to be used for P’s cattle to graze.  K said that if after 2 years D sells pasture, he must pay P for the losses occasioned by the sale.  D sold pasture (land) with 2 years remaining on P’s lease.  P had to hire a hand to watch cattle while he looked for a new pasture, and 15 head of cattle wandered off during that time.  Trial court denied consequential damages b/c court was afraid of awarding crushing damages.  P’s Consequential Damages are more than 9 times as much as the Initial Damages.
a. There were two kinds of losses: (1) loss related to loss of land itself and (2) loss related to what happened after as a result of the first loss.

A) Initial Loss/Initial or Direct Damages: loss related to being kicked off the land
1) This was 1893.  Suppose the new pasture that P has to rent costs $150 per annum.  Over the two remaining years, P will have to spend $50 more.  

B) Consequential Damages: If we give $50 to P, that would not return him to the status quo ante b/c after initial loss he had to incur new costs – cost of hiring an extra person ($225), and loss of the value of 15 head of cattle that wandered off ($225)
C) So, P is out $50 + $225 + $225 for a total of $500.
b. Holding: $50 initial damages d/n put P back in the rightful position.  Without a “no consequential damages” clause in K, consequential damages can be much worse than initial damages, and must be awarded to put P back in rightful position.
2. Consequential Damages in Tort:

a. Rule: P in K or Tort will be entitled to get consequential damages as long as provable, unless consequentials are excluded by K.  
i. Exception: If D’s wrong consists entirely of failure to pay money, no consequential damages will be awarded except interest at prevailing legal rate.
A) Meinrath v. Singer Co.: Meinrath suing Singer for bonus payments; no dispute that S owes M $300K.  M wants consequential damages of $800K b/c M owns other ventures, could have used $300K to invest in other companies – one of his companies went under and another had a decline in net worth.  S knew that M wanted the money to invest in his other companies – knew that M’s company may go under; S argued that’s irrelevant
3. Exception to Meinrath Exception: Insurance company’s bad faith failure to pay claim
· Can get consequential damages where insurance company fails to pay coverage in bad faith; where breach of insurance contract is bad enough to be a tort (so even emotional distress damages are available)

· If there is a bona fide dispute over whether policy should be paid, and there is no bad faith, then Meinrath exception applies and P may only recover Initial Damages of money owed plus interest on money owed at prevailing legal rate.

E. Limits on the Rightful Position Standard:
1. The Parties’ Power to Specify the Remedy:
a. Consequential Damages under UCC

i. Buyers are entitled to consequential damages unless excluded by K and exclusion is not unconscionable (e.g., exclusion unconscionable if it excludes personal injury damages)

ii. Sellers are only entitled to incidental damages (which are a subset of consequentials)

b. Limitations on remedies in contracts

i. Public policy limits: E.g., doctor cannot make you sign K excluding consequential damages if doctor is negligent

A) Cannot limit consequential damages in cases involving necessities of life

B) Prima facie unconscionable if K limits consequential damages in personal injury

1) Outside of context of personal injury, limitations on consequential damages are generally enforceable (even extremely common in commercial context)

ii. Kearney & Trecker v. Master: Initial K for purchase of computer-controlled tool; machine d/n work 25-50% of the time – breach of warranty, which provided that seller w/n be responsible for any consequential damages; warranty also limited remedy to either (1) repair or replacement of defective part of the product; or (2) return of product and refund of purchase price.  Judge gave jury instruction that jury can award consequential damages, which they did.

A) Trial judge found that while exclusion clause was not unconscionable (b/c product was not a consumer good and d/n limit personal injury damages), it is void b/c alternative remedy provided failed of its essential purpose (D tried to repair machine but it continued to malfunction).  Appellate court agreed.  Supreme Court reversed

B) Issue: Are consequential damages still excluded if alternative remedies provided in K fail of their essential purpose?

1) Split in courts:
a) Some courts say that once alternative remedy fails of its essential purpose, exclusion of consequentials is void as well

b) In some jurisdictions, consequential damages exclusion remains enforceable as an independent clause even after alternative remedy fails of its essential purpose

i) This is view adopted by court in this case

ii) Policy: Exclusions like this are very common in commercial transactions; court is worried that business would drop if they adopt the other rule

c. Liquidated Damages: K that will either provide for a set amount of damages in case of breach, or provide a formula for calculating damages.  Enforceable unless punitive (penalty)

i. Ashcraft & Gerel v. Coady: Managing partner of law firm’s Boston office; employment K provided that in case of material breaches, he would have to pay $400K in liquidated damages.  Partner materially breached contract: sabotaged computer database, stole clients.

A) Issue: Whether liquidated damages provision is enforceable or firm would have to prove damages (like cost of fixing computer system)?

B) Holding: Provision is enforceable

1) Restatement of Contracts 2-Part Test: To enforce liquidated damages provision, P must show (1) the stated liquidated damages bear a reasonable relationship to actual or anticipated loss; and (2) actual damages are difficult to prove.

a) If P does not meet this test, provision is stricken; P gets expectation damages
b) Logical contradiction:  The two parts are in conflict.  If P knew what damages were going to be to meet first part of the test, P would not meet second part.  In reality, courts do not look at both of these together so strongly.  Rather, they look at whether damages are difficult to prove first.
2. Judicial Limits on Remedies:
a. Avoidable Consequences/Doctrine of Mitigation: Party c/n recover for avoidable loss

i. What is a reasonable step in mitigation?

A) Stop unnecessary work

B) Make a reasonable resale

C) Obtain substitute performance
ii. Rockingham County v. Luten Bridge Co.: Political decision by board to back out of K to build bridge after board had initially approved the K.  Company received notice that county does not want them to continue w/ bridge, but company continued to build bridge anyway after they received notice.

A) Holding: Bridge company failed to mitigate damages, and thus, company is not entitled to any damages incurred after they received notice.

1) Bridge company’s remedy is to treat K as breached when it received notice and sue for recovery of damages sustained from breach.

2) This rule helps breaching party.

3) Law will treat you as though you acted reasonably to cut your losses even if you did not; must take reasonable steps in mitigating losses.

iii. P is required to take reasonable steps in mitigation, not all possible steps.
A) Parker v. 20th Century Fox: Employment K to star in musical; had right of refusal over director; 20th Century Fox breaches K and offered to give P a role in another movie.

1) Issue: Whether offering role in other movie was a reasonable step in mitigation?

2) Holding: No.

a) Jury question: Was failure to do alternative unreasonable?

i) Court said it can take it away from jury b/c court can tell from facts that alternative was inferior quality to what P would have gotten had D performed

ii) Dissent would almost always keep this a jury question

b) Court further held that P d/n have to mitigate by taking other movie offer b/c it was a different type of movie—not song & dance, no approval of director, and in Australia.
i) Court reasoned that when it comes to employment, rule is that reasonable mitigation would be to take similar work, but P does not have to take different or inferior work.
b. Offsetting Benefits: Received as a consequence of and only b/c of the breach of K
i. Offsets Benefits Rule: If you actually mitigate, what you get instead is an offsetting benefit that gets deducted from damages
ii. Exception: Collateral Sources
A) Insurance pays your claim after you get injured by third party
1) Insurance often has subrogation clause, that if you recover from third party for something insurance already paid, insurance gets a refund

2) Collateral source rule: Even though payment from insurance is an offsetting benefit, we do not subtract it out from damages; jury will not hear about insurance
a) Insurance proceeds and gov benefits; payment wholly independent of tortfeasor
b) In some states, collateral source rule has been repealed by statute.

B) Arguments for collateral source rule:
1) Do not want to punish people for buying insurance

2) Want to encourage insurance—especially because there will be some cases where tortfeasor will be unknown or judgment proof.
3) B/w innocent P and culpable D, it is better that D pays and P gets a windfall than that D gets lucky enough to hurt a P who has insurance or another collateral source.

4) No necessity of a double recover, because insurer’s Ks allow for subrogation.

5) Militates against other factors in torts cases, like fact that jury is not told about contingency fees.  (i.e., this is a way to make up for attorney’s fees, as those get taken off of P’s recovery).
C) Arguments against collateral source rule:
1) Possibility of double recovery, where there is no subrogation requirement.
2) No reason for special exception for these kinds of offsetting benefits if we allow other offsetting benefits to count against P.

3) Rule should not be used to solve other problems, like contingency fee arrangements; if you want to solve that problem, solve it by allowing recovery of attorney’s fees.

c. Reasonable Certainty: Damages have to be proven with reasonable certainty

i. E.g., new businesses in some states cannot get lost profits without track record

d. Actual Cause: e.g., pollution nuisance cases

e. Proximate Cause: Substantive requirement of prima facie case for a particular tort, but it also functions as a way of limiting damages

i. Can only recover foreseeable damages

f. Economic Harm Rule: Court will not award economic damages in absence of physical impact to person or property – direct injury.

i. Fear of crushing liability: damages would be endless

ii. Exception to rule in certain cases where only kind of damage caused by defendant is an economic harm (e.g., accountant’s negligence or malpractice)

iii. Pruitt v. Allied Chemical Corp: Allied dumped pollutants into James River; chemical spill causing destruction of marine life ( less fish ( less demand for fish from area.  P brought suit for economic harm from the destruction of marine life; large group of plaintiffs – some Ps made their living on the water (fishermen), some made living off water.  Fishermen could not catch fish b/c they were all dead; merchants could not sell fish to restaurants; restaurants could not serve fish to customers; employees of restaurants lost their jobs.
A) Issue: Who can recover?  Why wouldn’t court allow all of the Ps who suffered losses actually caused by chemical spill to recover?
B) Bait & Tackle Shop & Restaurants: No physical or direct impact from chemical spill; so it looks like under the economic harm rule, they should not be able to recover

1) However, court allows them to recover.

2) Court is concerned w/ deterrence; court d/n want to strictly apply economic harm rule b/c it would not deter D from dumping chemicals

3) Defendants conceded that they owed damages to commercial fishermen

iv. Evra v. Swiss Bank Corp: Evra entered into 2 year K to supply steel scrap to a Brazilian corp.  To ship this, they chartered a ship, Pandora, for 1 year with option of extending charter for a second year.  Cheap price.  Charter contract provided that ship owner can cancel contract if a payment is late.  First late payment ( went to arbitration, arbitrator said next late payment, owner can cancel K.  Bank was negligent in losing wire payment.  Owner canceled contract.  Evra subchartered Pandora at higher price.  Then, Evra sued Bank for negligence in making payment late (tort claim, not K).  Evra had sent telex to Bank w/ instructions on payment.  Bank lost telex and did not make payment on time.

A) Issue: Can P recover extra money it will cost to ship during K term from D (bank) b/c D mishandled the payment resulting in cancellation of the K?
B) Holding: Evra cannot recover from Bank

1) Judge Posner applied contracts principle in tort case: that it w/n foreseeable to bank that if they d/n make payment right away, Evra would lose charter

2) Economic efficiency: Cheapest Cost Avoider ( put liability or responsibility on party that can do it the cheapest
a) As between bank and metal company, metal company was in cheapest position to ensure all goes well.
b) P should have given money to bank earlier, instead of waiting until last minute
c) P should have done everything to make sure money gets there ASAP after discovering D’s error, but instead they let matter linger for a week.

F. Damages Where Value Cannot Be Measured in Dollars (e.g., pain & suffering in personal injury)
1. Per Diem Rule: Arguing to jury that they should set a value for one day’s pain and suffering and multiply by life expectancy

a. Debus v. Grand Union Stores: P’s attorney argued that jury award $30 per day for 35 years

i. Concern is that jury might take this as evidence b/c there’s no market for pain and suffering; in jurisdictions that let P’s lawyer make this argument, defense lawyers often focus on the bottomline total

ii. Per Diem Rule allows P’s lawyer to break down pain and suffering into little chunks per day, instead of only asking for total

2. Golden Rule: Cannot ask jury to abandon objectivity and put themselves in P’s shoes

3. Legislative Caps: Statutory responses to uncertainty and difficulty in measuring noneconomic damages (e.g., CA limits non-econ damages in medical malpractice cases to $250K)

4. Wrongful death damages are subject to special rules (b/c traditionally not allowed unless by statute)
i. Some states put limits on amount that can be recovered, or who can recover.  In CA, spouses, children, and domestic partners can recover, by not cohabitators.  Also in CA, you can only recover for pecuniary loss in wrongful death claim.
ii. Corter v. Corter: Guy was killed, a number of claims were brought against Ds.  There is a statute requiring all Ps to sue all Ds at once.  After trial, if Ps c/n agree on how to divide proceeds, there is another trial.  In this case, there was a judgment for $1.5 million.  
1) Issue: How much of that award should daughter get and how much should wife get?

2) Daughter claimed that wife was engaged in prostitution and husband knew, and was going to divorce her.  TC agreed and gave 90% to daughter.  AC disagreed.  As long as they had a valid marriage, wife was entitled to bulk of the award.
5. Dignitary and Constitutional Harms: Damages would serve purposes of both putting P in rightful position and also deterring bad behavior.  Also, awarding damages deters self-help (vigilantism)

a. Levka: P was arrested and subjected to very intrusive strip-search.  P brought § 1983 civil rights claim, claiming that gov officials denied her of her right to be free of unreasonable search.  Before Levka, it had been decided that this type of search for people arrested for misdemeanors is a const’l violation.  Jury reached verdict of $50K for emotional distress.
A) Issue: Amount of damages?

B) P claimed emotional distress b/c she was afraid to go out at night, afraid to continue her job as a booking agent, saw a therapist once. P also claimed loss of business b/c she was no longer able to continue job.  But jury d/n award any damages for loss of her business.
C) Court will generally affirm jury awards unless if amount shocks the conscience.
1) Remittitur: If amount too high, judge gives P option of taking lower amount or having another trial on damages (risky b/c new jury may award less)

2) Additur: If jury comes in too low, in most jurisdictions, judge does not have option of increasing the amount

b. Carey: High school freshman was busted by principal for what principal thought was a joint.  B/c he was suspended w/o a hearing, he brought suit for being deprived of his procedural due process rights.  There is no question as matter of substantive law that student had right to notice and opportunity to be heard.  He is not claiming that he would not have been suspended.  His constitutional claim is based solely on his denial of a right to a hearing.
A) P argued that he should not have to prove damages, but rather get “presumed damages.”  
B) Presumed Damages: In certain types of slander, someone says something bad about you and it is false and you can sue for defamation, you can recover presumed damages.  Meaning jury can award damages without you having to prove what your damages were.  It is presumed that you were harmed by the slander.

C) Holding: Court held that no presumed damages can be awarded for constitutional violations; can still get nominal damages (which may trigger punitive damages)

1) Exception: This holding does not seem to apply to denial of right to vote
G. Time and Value of Money: How do we take into account that the value of money changes over time?
1. Prejudgment interest
a. Prejudgment Interest runs from time of injury (T0) until time of judgment (T1).  It is not always available, but if it is available it puts P in rightful position.  It is b/c we want to compensate you as if you got your damages award back at T0, not T1.  P was deprived of the value of the money for time b/w injury and judgment.
b. Giving only amount of damages w/o prejudgment interest is under-compensatory.
c. Prejudgment interest is available in some jurisdictions depending on nature of claim.
i. On some claims, if it is not certain how much the wrong was at the time of injury, P cannot get prejudgment interest.  But if amount is certain and state law allows it, P can get prejudgment interest in amount (rate) set by statute.

2. Postjudgment interest
a. It is pretty easy to get postjudgment interest b/c the amount is certain by that point.  Judgment at T1, but P d/n get money until after appeal at T2.
b. Rate of post judgment interest might be different from rate of prejudgment interest.
c. Interest continues to accrue even after appeal if judgment is not paid.  Court does not force D to pay; P must enforce.
3. Present value of expected future losses.
a. Present value is awarding damages now for money that π would not have earned/will not need until some point in the future.
b. Present value and discounting is meant to give amount today to compensate for future loss that is going to occur (typically lost future wages and future medical care).
i. Discount Rate = Return on investment – percent in wage increase
c. We have to know two things
i. How much money can you get on your investments? 
ii. How much will things cost in the future? 
iii. Assumptions drive outcome; P’s experts and D’s experts make different assumptions
A) Assume percent increase in future wages
B) Assume rate of return on investments
C) Assume remaining work expectancy of plaintiff
D) Assume worker is paid once per year at beginning or at end of the year; if at beginning, we do not discount 1st year of wages (Period 0)
E) Assume percent increase in medical costs in future (if Plaintiff)
iv. The further we estimate into the future, the more uncertainty there is. 
d. Factors for the rate of interest:
i. The riskiness of the investments.
ii. The longer you lock up your money, the higher the interest rate, because you are giving up your ability to speculate later.
iii. Sometimes interest earned on investment and rate of inflation of medical costs and lost earnings might cancel each other out, but not in every case

II. Coercive Remedies: Preventing the Harm with Injunctive Relief
A. Definition of Injunction: An injunction is a court order, enforceable by sanctions for contempt of court, directing a defendant to do or refrain from doing something.
1. Injunction is coercive b/c it forces D to do or not do something.
2. Injunction is a power the court has in equity, not in law.

a. With the equity comes court’s special powers: coercive, compensatory, punitive

3. Injunction is aimed at future; injunction keeps P in rightful position by either preventing future harm or preventing future bad effects of past harms (avoid valuation problem)

4. Distinguishing Types of Injunctions:
a. Prohibitory v. Mandatory: “don’t remove the tree” vs. “shore up the foundation.”
b. Preventative v. Reparative Injunctions:
i. “Don’t remove the tree” – preventive injunction b/c it prevents future harm (harm which has not happened yet)
ii. “Shore up the foundation” – reparative injunction b/c it prevents future bad effects of a past harm.  Harm has already happened (tree was removed; future bad effect of this harm will be a weak foundation)
B. Preventive Injunctions: Propensity – Can be attacked on two grounds: (1) ripeness, and (2) mootness
1. Ripeness: There is not enough evidence yet that something is likely to happen.
a. Humble Oil & Refining v. Harang: P seeking preliminary injunction to prevent D from destroying documents in ongoing litigation involving trade secrets, tort and contract claims.  P believed that D was going to destroy documents that would show culpability.  Injunction would prohibit D from destroying documents and would hold D in contempt if he destroys them; future harm is that P would not have access to docs and might lose case; lot harder to collect damages after the fact.  Trial court d/n issue injunction; affirmed on appeal
i. Four requirements to issue injunction:
A) The party seeking the injunction shows potential irreparable injury.
B) Propensity (there is a real danger that the acts to be enjoined will occur).
C) No other remedy available.
D) Under circumstances court should exercise its discretion to afford the unusual relief provided by its injunction.
ii. Holding: NO injunction
A) P only proved first requirement for injunction, Irreparable Injury, or that there was no adequate remedy at law
B) Propensity is a realistic threat of violation: P must prove a substantial threat of violation – that D is substantially likely to do act in way that harms D
1) Here, not enough proof that D was actually going to destroy doc; only evidence was affidavit from P that said “I think D will destroy docs” – speculative
2) Propensity required b/c injunction gives party seeking it an advantage; also administrative efficiency concerns; injunction changes balance of power

b. Nicholson v. Conn Half-Way House: P residents trying to enjoin D from using property they purchased as half way house.
i. Holding: While there’s no question that D plans on opening up the half way house
A) Not enough to show propensity, b/c it’s not a realistic threat of violation
B) Opening up half way house in this neighborhood is not illegal in and of itself
ii. P’s fear that half way house will increase crime and reduce values of property
A) Court found that propensity as to crime is based solely on P’s subjective and speculative fears; no evidence that there is a propensity of crime
B) Depreciation of land values: There was a finding that proposed use has actually had a negative effect on land values
1) Court held that depreciation that results from subjective fears is not enough

iii. Court distinguished cases of Brainard and Torrant, where court issued injunction to prevent mortuary and dump from opening; there’s no value in having town dump and funeral home in residential areas, but there is a benefit to putting half way houses there.

c. Scope of Injunction Based on Propensity: How broad injunction depends on propensity
i. Marshall v. Goodyear Tire & Rubber Co.: Secretary of Labor sued Goodyear for age discrimination, seeking damages and injunction.  Allegation of age discrimination at particular plant; damages for past harms.  Injunction would prevent future discriminatory practices (both preventive and reparative).  Lots of evidence of propensity at this plant
A) Issue: Scope of injunction; how broad should it be? Can gov obtain nationwide injunction ordering Goodyear to follow the law?
1) Sec was seeking nationwide injunction; propensity only proved at one location
2) No evidence that manager was directed by national company to discriminate
3) No evidence of nationwide company policy or practice of age discrimination

B) Holding: No nationwide injunction if there’s no nationwide propensity
1) Scope has to be tied w/ nature of the wrong
2) Here, propensity only shown at one store, no nationwide practice
2. Mootness: Something happened before, but it is not likely to happen again in future.
a. US v. W.T. Grant Co.: Gov trying to prevent D’s companies from having interlocking directorates in future.  There is a Mootness issue b/c after gov sued, D stopped interlocks, resigned from boards.  Gov wants preventative injunction to stop D from appointing one person to interlocking boards.  Gov argued that D will be engaging in interlocks in the future; D argued that there’s no realistic threat of future violation
i. Mootness issues:
A) Constitutional mootness: Court is unanimous that there is a controversy about the legality of D’s conduct which they stopped doing
B) Mootness for purposes of issuing an injunction

ii. Issue: Did director resigning from one of the boards render injunction moot?
iii. Factors to consider when deciding on injunction where D claims mootness: Some cognizable danger of a recurrent violation, something more than mere possibility
A) Bona fides of the expressed intent to comply (credibility)
1) Credibility is a question for trial court (deference, abuse standard)
B) Effectiveness of the discontinuance
C) In some cases, the character of the past violations

C. Reparative Injunctions: Prevent Future Bad Effects of Past Harm
1. Bell v. Southwell: Special election for local office in 1965; number of civil rights constitutional violations; voting was segregated so that whites had more access to voting booths and black voters were intimidated; separated but unequal voting.  New election would NOT have been any different if all black voters were allowed to vote.
a. Past harm: Election held under unconstitutional conditions
b. Future bad effects: Residents of area have to live for four years with fact that their justice of the peace was unconstitutionally elected.
i. Propensity not an issue b/c past harm already occurred, future effects flow from past harm
c. 5th Circuit said trial judge should have ordered new election
i. Trial court made argument that state law prevented ordering new election; Court rejects this argument b/c of federal supremacy clause
ii. Trial court also argued that court only had power to issue prohibitory injunction, not mandatory injunction; Court rejects this argument.
iii. Bottom Line: Court can grant both reparative and preventative injunction
A) Preventative: order the police department to insure there is no racial discrimination.
B) Reparative: ordering a new election.
2. Forster v. Boss: Breach of K; injunction order of specific performance.  Trial court gave P $12,250 in compensatory damages, $10K in punitive damages and $2500 in damages for failing to remove swim dock.  Additionally, trial court ordered D to remove swim dock and to give P boat-dock permit.  License was transferred and swim dock was removed, so there was no need for damages

a. Issue: Is giving damages and ordering specific performance a double recovery? Could P be put in rightful position with only damages? Could P be put in rightful position with only injunction?

i. Lag time b/w time P bought house and time P got boat-dock permit and swim dock was removed.  So P was entitled to delay damages, but P is entitled only to either compensatory damages OR injunction (specific performance)

b. Holding: Except for possibility of delay damages, P cannot get both compensatory damages and injunction; giving both would be double recovery
i. P could be placed in rightful position with only damages – cost of removal of swim dock + difference in value of property w/ and w/o boat dock permit

ii. P could be placed in rightful position with only injunction + delay damages (if any): Court can issue injunction ordering D to remove swim dock and to transfer boat dock permit to P.

A) Delay damages: P was deprived of use of boat dock for 3 yrs (b/c D d/n transfer permit)

iii. Punitive damages are different; can get them along with injunction.  Here, court instructed on remand that if you need some damages to trigger punitive damages, trial court is to give $1 in nominal damages.

3. Freewheeling Judicial Discretion (instead of rightful position standard) in Determining Scope of Injunction
a. Winston Research Corp v. Minnesota Mining & Manufacturing: Winston stole trade secrets of 3M (made precision tape recorder) – stole technology of how tape recorder was made; formed new company with other former employees.  P seeking both damages and injunction.  Trial court chose not to award damages.  Tape recorder has not yet been marketed, so court believed 3M has not sustained any damages.  P seeking injunction prohibiting Winston from ever selling the stolen technology (perpetual injunction).

i. Issue: Would permanent perpetual (everlasting) injunction place P in rightful position?

ii. Holding: No, perpetual injunction would not place P in rightful position b/c competitors would eventually figure out how to manufacture similar competing product; so this would actually put 3M in a better position than if there had been no wrong.

iii. Result: Court issued injunction for 2 years; based on how long it would take competitor to figure out P’s technology and reverse engineer

A) But 3 years may have also been reasonable length; court defers to trial judge

iv. Bottom Line: Even if court is aiming exactly at rightful position, sometimes it’s hard to know where that position is or how long to give injunction for.

b. Bailey v. Proctor: 2 kinds of investors in trust fund: $150K in stock and $6mil in debentures (bonds).  Bond holders get a fixed income.  Shareholders decide where money is invested but they take less risk than bond holders; so they can gamble with somebody else’s money.  Congress later made this kind of trust fund illegal, but those in existence can continue to operate (grandfather clause), just cannot create new ones.  Control group consists of directors elected by shareholders.  Directors engaged in fraud and self-dealing, and trust fund goes insolvent / bankrupt; bankruptcy court appoints receiver.  Trust is later bought out.  No evidence that new owner is engaging in fraud or self-dealing; with new owner, trust is no longer solvent.  New owner invested in race track.  Plaintiffs (bondholders) want to be liquidated so they can their money back.

i. Issue: Would order of liquidation put bondholders in rightful position?  Should injunction stand even if it is not tied to rightful position

ii. Holding: Appellate court upholds injunction even though it’s not tailored to rightful position

A) Remedy of liquidation would actually put plaintiffs in better position

1) Had there been no fraud or self dealing, plaintiffs would continue to be investors in honest but risky investment.

2) Even after the fraud, due to new ownership, P are also now investors in honest but risky investment – same position P were in before fraud.

B) However, equity courts are not bound to the rightful position, but also can do what is equitable – Equity’s “roving commission to do good” (free-wheeling equitable discretion)

1) Trial judge had jurisdiction based on equity, concluded that whole investment was structured unfairly to begin with

4. Prophylactic Injunctions: Sometimes injunction, though aimed at the rightful postion, might go a little further than rightful position in order to protect the rightful position (e.g., injunction to stay away from certain property beyond 100 feet)
D. Structural Injunctions:
1. Scope of the Injunction When Issued

a. Structural injunction is a series of preventive and/or reparative injunctions in public interest litigation aimed at restructuring an institution that either has been systematically violating the law or whose very structure is unlawful.
b. School desegregation cases:
i. Swann: Desegregation in NC; district maintained 2 segregated school systems.  School board proposed creation of several attendance zones and busing students b/w the zones; this plan would have placed most of the HS and jr HS students in integrated schools;

A) Remedy challenged as going beyond power of court or not tied to rightful position; 

B) Holding: This was permissible b/c remedy was necessary to eliminate all vestiges of de jure discrimination (constitutional violation).
ii. Miliken I: District court found there was de jure segregation in Detroit school system, and that desegregation within Detroit is impossible b/c most white students have either moved out to suburbs or went to private schools.  District court ordered creation of metropolitan district that includes suburbs, and ordered busing between districts.
A) Holding: Metropolitan plan that included suburbs went beyond power of the court.  
1) If schools in suburbs were found to have engaged in de jure discrimination, this remedy would be permissible; no evidence of de jure discrimination in suburbs.

2) Interdistrict remedy impermissible for intradistrict problem:  Remedy put P’s in better position than they would have been in but for state discrimination.
iii. Jenkins III: Missouri had been operating a segregated school system, but surrounding school systems were not segregated.  Court ordered major initiatives to get rid of segregation, which cost $220 million.  Then school district turned all schools except a few high schools into charter schools.  Court ordered the district to raise taxes, pay higher teacher salaries.  
A) Holding: Remedy goes too far; Court strongly goes for rightful position standard
1) School district has wrong goal here.  Goal of turning schools into magnet schools was to promote “desegregative attractiveness”; bring back white kids from suburbs outside the district or from private schools.

2) This implicates Milliken I – interdistrict remedy for intradistrict problem 
3) Remedy of raising taxes and creating charter schools put P’s in better position
B) Dissent: Souter says problems in district are the result of de jure discrimination, not de facto discrimination.  “Property-tax paying parents of white children fled the district because of the costs of fixing the problems from past de jure segregation.  So de jure segregation, not de facto segregation (as a result of “white flight” following desegregation) is responsible for current bad condition of school system, and therefore can properly be remedied under the rightful position standard.”

a) So, even the dissent tries to tie their desired remedy to rightful position.  
c. The rightful position is the standard the USSC now promotes even in public interest cases.  Three more cases that deal with rightful position.
i. Hutto v. Finney: Arkansas prison system was found to violate 8th and 14th amendments (cruel and unusual punishment and due process) b/c it overcrowded the prison system and put 10 or 11 prisoners in an 8x10 foot cell.  It was called punitive isolation.  Prisoners were given mattresses, and some had infectious diseases, and mattresses were passed around.  Food was horrible and provided 1000 calories a day, even though a person needs 2000 calories.  They also let prisoners guard other prisoners.
A) Court did not immediately order remedies, but directed department of corrections to improve conditions and give progress reports; court was satisfied after 4 years; appellate court reverses saying conditions have actually gotten worse, so trial court issued injunction that state may not keep prisoners in punitive isolation for longer than 30 days; appellate court affirmed and state appealed.

B) Issue: Does the 30 day cap on punitive isolation put Ps in rightful position, better than rightful position, or worse than rightful position?

C) Holding: Ok to over-remediate in order to protect rightful position

1) This is a prophylactic injunction b/c limiting time prisoners are held in punitive isolation reduces exposure to cruel and unusual punishment.

2) But it is hard to tell difference b/w prophylactic measure and freewheeling discretion

D) Justice Rehnquist in dissent would rather under-remediate.  
ii. Lewis v. Casey: Class action about inadequate legal assistance and law libraries in prisons.  Under constitution, prisoners must have enough access to a library to file a non-frivolous claim.  In order for there to be a violation, P (prisoners) must show that they could not file a non-frivolous clam.  Two illiterate prisoners sued because they could not file lawsuits; they needed someone to help them read in prison library.

A) Judge ordered general improvements in Arizona prisons, including special noise reduction measures be taken in prison library.

B) Holding: Remedy goes beyond rightful position; remedy must be tied to rightful position
iii. U.S. v. Virginia (VMI): VMI was state funded military institution for men only.  Women who wanted to go to VMI brought suit claiming equal protection violation.  On substance, court held that it is a constitutional violation to admit men but not women.  Trial court told state to come up with proposals to remedy discrimination.  State decided to open up a new military school for women.

A) Holding: New school for women is not good enough, does not place P in rightful position b/c educational opportunities are still unequal.

1) Women’s institute was inferior to VMI in endowment, faculty, alumni network, facilities, programs, etc.

2) To ensure equality of opportunity (and rightful position), VMI has to integrate or close down (or privatize)
iv. These cases show that the rhetoric of the Court today is clearly about the rightful position.  You can not argue with a straight face today that a remedy that goes beyond the rightful position is okay.  The best argument you can make is that it is a prophylactic remedy aimed at protecting the rightful position.  Bailey is dead.
2. Modifying Injunctions: To what extent can courts modify an earlier injunction?
a. FRCP 60(b). “On motion and upon such terms as are just, the court may relieve a party … from a final judgment, order, or proceeding for the following reasons:… (5) it is no longer equitable that a judgment should have prospective application.”

i. There is authority under the rules to modify the judgment.  But it does not tell us HOW to modify it.  “Judgment” does not include damages; only injunctions can be later modified.
ii. So, FRCP 60(b) does not give a standard.  
b. The old standard for modifying an injunction: Swift
i. Swift held that it was very hard to get a modification; “nothing less than a clear showing of grievous wrong evoked by new and unforeseen circumstances.”

ii. Swift is rejected in Rufo v. Inmates of Suffolk County Jail.
c. The new standard for modifying an injunction: Rufo – institutional reform case brought by public interest firm and inmates awaiting trial but not out on bail who wanted separate detention facility for pre-trial inmates from post-trial inmates.  Claim of cruel and unusual punishment. Trial court enjoined prison from operating this way, not to put multiple inmates in the same cell.  A few years later, gov was no longer complying.  Appellate court ordered gov to either close jail or comply with the injunction.  Parties later entered a consent decree.
i. Consent decree is both an injunction and a K b/w the parties.
A) It is also enforceable by court through its contempt power and decree is embodied in an injunction issued by court.  It is treated like injunction with final judgment.

ii. Consent decree said gov would build new jail with a certain number of cells.

A) Key demand of P’s that ended up in decree was single cells only, no double bunking.
B) When parties entered into agreement, they were taking risk (made agreement under conditions of uncertainty) b/c the case of Bell (which would decide whether double bunking was unconstitutional) was pending.

C) Prisoner population kept increasing.  Court in Bell decided that double bunking was ok.  Sheriff asked court to modify consent decree to allow double bunking.
iii. Two step process for modification under FRCP 60(b):
A) Step 1: Figure out if modification is permitted.
1) Modification allowed #1: Where “changed factual conditions make compliance with the decree substantially more onerous.” 
2) Modification allowed #2: Where the decree proves unworkable because of unforeseen obstacles.
a) “unforeseen” vs. “reasonably foreseeable”
b) According to majority of Court, “unforeseen” is a subjective question: D must actually not have foreseen obstacle even if obstacle was reasonably foreseeable (Stevens disagrees b/c that would let D off too easily)
3) Modification allowed #3: When enforcement of the decree without modification would be detrimental to the public interest.
4) Modification allowed #4: When the statutory or decisional law has changed to make legal what the decree was designed to prevent.  But NO modification where a party relies upon events that actually were anticipated at the time it entered into a decree.
5) Modification allowed #5: Modification could be warranted if the parties had based their agreement on a misunderstanding of the governing law.
B) Step 2: If modification is permitted (Step 1), then figure out how to modify.
1) The modification should be suitably tailored to the changed circumstance.  
2) Don’t modify in a way that violates the Constitution.
3) Don’t have to impose the constitutional floor unless that is part of the parties’ agreement (probably won’t apply constitutional floor if consent decree) – but only in prison litigation, must impose no more than constitutional floor
4) In public interest litigation, court defers to the public authorities (if they are involved) in determining how to remedy the problem.
a) O’Connor dissents: Why are we deferring to one of the parties?
b) But this deference standard was affirmed in Frew: “principles of federalism require that state officials with front-line responsibility for administering the program be given latitude and substantial discretion.”
iv. On remand, judge concluded that prison population rise was not foreseen by sheriff.  However, judge found that double bunking causes too much violence so no double bunking.  Court said sheriff could double bunk if they can deal with violence.  Then Congress passed the Prison Litigation Reform Act and sheriff asked court to remove the consent decree.
d. Prison Litigation Reform Act: Under PRLA, defendant [the prison system] “shall be entitled to immediate termination of any prospective relief if the relief was approved or granted in the absence of a finding by the court that the relief was narrowly drawn, extends no further than necessary to correct the violation of the Federal right, and is the least intrusive means necessary to correct the violation of the federal right.”
i. PLRA provides that gov can get rid of any consent decree in prison litigation that gives more than the minimum constitutional floor.
ii. This will cause more litigation: D has nothing to offer, b/c D c/n offer more than the constitutional minimum.  Even if D offers more, P would be foolish to accept offer b/c D can seek modification.
iii. How can a prison settle? Can enter into a settlement agreement.  Then if Δ violates, π can seek damages.  But no contempt power.  A settlement agreement is not worth nearly what a consent decree is worth.
3. The Rights of Third Parties: How much may 3rd parties be burdened?
a. To what extent can court order which applies to the parties affect the rights of 3rd parties who have not been directly ordered to do anything?

i. Hills v. Gautreaux: Chicago Housing Authority was involved in de jure racial discrimination in violation of 5th Am (placing African Americans on purpose inside city instead of suburbs).  Appellate Court ordered “metropolitan desegregation plan,” which required CHA to provide low income housing in suburbs of Chicago (not to build, but to contract with private owners).  This remedy does not require approval of any new housing, but simply a subsidy for people to move into private housing.

A) Remedy challenged by suburban cities and towns, claiming that they are innocent 3rd parties, and they are being burdened by the people who move in to Sec 8 housing b/c new tenants will be poor and city will have to provide greater social services like ERs.
B) Holding: Court can burden 3rd parties heavily without violation Constitution, but remedy cannot go so far as to be a complete restructuring of the institution (as in Milliken I)
1) Remedy would have same indirect impact as other discretionary decisions by HUD
2) HUD is a wrongdoer, so court has jurisdiction beyond Chicago; HUD is everywhere
C) This holding in Hills (1976) may be in conflict or tension with Jenkins III (1995).
1) Majority in Jenkins III said these cases are reconcilable, while dissent argued that Jenkins III overturns Hills.
2) While Hills says you can burden 3rd parties heavily but short of restructuring, the burden in Jenkins III on 3rd parties was less burdensome.  Suburban school districts did not have to do anything; they just might lose some students to the inner-city.  Yet, the remedy in Jenkins III still went too far.
3) Remedy in Jenkins III went beyond rightful position (increased salary for teachers, build new planetarium), and that alone would have been enough to decide the case.  But Court went further and called the remedy an improper intradistrict remedy.  So there is now tension in the cases about how much you can burden 3rd parties.
b. To what extent can the courts directly order 3rd parties to do or not do something?

i. General Building Contractors v. Penn: Complaint against unions and employers for racial discrimination in hiring process.  Union was found to be wrongdoer; employers were not.  Court issued order to employers (who were now innocent 3rd parties) requiring them to do certain things, like pay for part of the remedy, provide on-the-job training, file certain quarterly reports, and follow hiring quota.
A) Holding: Court may issue only minor and ancillary orders to 3rd parties.
1) Third parties (or parties who are adjudicated as not wrongdoers) cannot face burdensome orders under injunction, such as paying for part of remedy.

2) For majority, even requiring employer to file reports is too much (O’Connor argued that occasional filing of reports on racial makeup of employees is ok)

ii. Law Enforcement Exception (courts are split on this): Court can issue order to law enforcement to enforce its own orders (assuming police are not wrongdoers in the case).  Otherwise, it would be hard to enforce court orders b/c court does not have its own army.  E.g., in some desegregation cases, court ordered police to be present at school when black students went in for first time.
III. Choosing Remedies

A. Substitutionary or Specific Relief: Damages vs. injunction; preliminary vs. permanent injunction
1. The standard for granting an injunction:
a. First requirement: propensity (realistic threat of harm), which includes ripeness, mootness, scope of injunction.
b. Second requirement: irreparable injury (no adequate remedy at law – damages not adequate; or any legal remedy is not as complete, practical, and efficacious as the equitable remedy).
c. Third requirement: other policy concerns, even if P proves propensity and irreparable injury.
2. Irreparable Injury Rule:
a. Pardee v. Camden Lumber Co: P sued to enjoin D from coming on P’s property and cutting down his trees.  Trial court denied injunction b/c there is an adequate remedy at law (damages)
A) Trial court’s argument: Damages OR injunction can put P in rightful position

1) P’s argument: Damages are inadequate b/c P values trees more than court will compensate with damages (market value is under-compensatory).

B) Holding: Upheld b/c injunction would actually give P advantage in bargaining.

1) This is a specific old rule that says no injunction to prevent cutting of lumber (b/c at time, trees had no value, and lumber was considered nuisance to public)

2) Old rule, P can only get injunction if D who was going to cut P’s trees does not have any money to pay damages after cutting the trees

b. Replevin (An Action for Specific Relief of the Return of Personal Property)
i. Brook v. James A. Cullimore: D borrowed $8k from P and secured loan w/ personal property that is worth $2500.  D defaulted and P brought an action for repleven, meaning that he is seeking an actual delivery of the personal property that secured the loan.  D wants to give P $2,500 and keep the property.
A) Court refers to Oklahoma statute that gives successful P in replevin action option to either get property back or damages

1) P does not have to prove irreparable injury; can get return of property as matter of right under the law

2) Replevin is remedy at law not from courts of equity.  Replevin does not require irreparable injury even though it is a form of specific relief

ii. Replevin vs. Injunction:

A) Replevin easier to prove but harder to enforce b/c unlike with an injunction, court cannot use contempt power in replevin suit to force return of personal property.

B) Suit for replevin is decided by jury; suit for injunction is decided by judge

3. Economic Analysis of Choice Between Specific v. Substitutionary Relief

a. Definitions:

i. (Kaldor-Hicks) Efficiency: Pick the rule that creates the greatest over all social wealth, regardless of how distributed.  Efficiency is about making the pie as big as possible, not about how to slice the pie.
ii. Transaction costs: Costs of bargaining, obtaining information and acting strategically.  
iii. Coase Theorem: In the absence of transactions costs, parties will bargain to an efficient result regardless of underlying legal rule.

iv. Property rule = injunctions
v. Liability rule = damages

b. Cooter & Ulen proposal (supported by Calabresi & Melamed): When transaction costs are low, could should grant an injunction and the parties will bargain to the efficient result.  But when transaction costs are high, you don’t expect that the parties are going to bargain and the court should grant damages.

i. To an economist trying to determine whether to grant damages or an injunction, issue does not turn on irreparable injury, propensity, and other policy concerns; issue turns on efficiency (low transaction costs =  grant the injunction, high transaction costs = damages).

ii. Important error in Cooter & Ulen’s analysis: Cooter & Ulen do not take into account that there has to be a mitigation of damages.
c. The critiques of this economic theory
i. First Critique: Transaction costs are usually high, so the injunction will not lead to efficient results.  Empirically (Farnsworth article), people do not bargain around an injunction after they’ve obtained an injunction even if that’s not economically rational behavior

A) Economists say that transaction costs are low when the number of parties is low.

1) This analysis misses some of the transaction costs that exist when there are only 2 parties.  It is called bilateral monopoly (one buyer + one seller = no competitive market = no efficient results)

ii. Second Critique: Where is corrective justice in all this?

A) When the economist is deciding a question, he has a normative view: pick the rule that makes the overall pie biggest, and don’t worry about how the pie is distributed.  

B) May not be fair: You have a corrective justice right to not have someone interfere with your property by sending smoke on to it.  Economic theory has the wrong goal.

iii. Third Critique: Individual rationality – how people evaluate risks, people are risk averse when it comes to gains but risk seeking when it comes to losses

A) Some people do not act rationally, especially when they are involved in litigation.
2. The Third Part of the Test for an Injunction: Other Policy Concerns

a. Van Wagner Advertising Corp v. S&M Enterprises: Barbara M leased lucrative advertising space on billboard (facing Manhattan tunnel) to P, Van Wagner Adv, for period of 3 years plus option periods totaling seven additional years.  Original owner of building sold building to S&M.  S&M bought other buildings in the area and wanted to demolish the entire block and develop a new building, so S&M wanted to get out of K with Van Wagner.
i. Issue: Can P get injunction preventing D from stopping billboard space from being used?
ii. Court said there is no irreparable injury (even though it should be easy to show irreparable injury in this case; there is a bigger issue)
iii. Policy consideration: D was rebuilding part of Manhattan, should not stop such a large project because of one billboard; big burden on defendant.
A) Damages are very difficult to measure here (price of comparable advertising space; value of lost business)
B) Sublessee wants specific performance because that piece of unique real estate with billboard is much more valuable than dollars.
b. Undue Hardship on D:
i. Ariola v. Nigro: D’s building encroached on P’s property.  D and P owned adjacent property. D decided to build an extra story on his home.  D’s contractor dug a hole and Ps discovered that it encroached on their property line.  Ps asked Ds to cease construction, but Ds continued.  Construction both below and above ground encroached property line.  P’s rain gutters hung over property line, but court determined that P had acquired an easement by adverse possession.  Ds removed P’s rain gutters and installed a non-working saddle gutter.  So, buildings are flush against each other and there’s water damage going into P’s building.
A) Issue: P wants injunction to make Ds tear out the encroachment, and damages for (1) the removal of original gutter and (2) damage to P’s building that resulted from negligent installation of the new gutter.

1) Damages for encroachment (which was about 7 square feet) would be about $1
2) If P gets injunction, D would have to rip out encroachment, which is expensive for D b/c he would have to rip out both above ground and foundation.

3) Issue: Should court award damages to P which are worth almost nothing, or grant an injunction which would be hard on D?
B) Holding: P gets injunction no matter how hard it is on D.

1) Usually, no injunction if hardship to D far outweighs benefit to P.

2) But here, D was a really bad actor, engaged in intentional wrongdoing (knew he was trespassing and continued building)

ii. Compare Boomer: Despite using best available technology, D’s cement plant poured dust onto homes of 7 Ps who sought injunction to close down plant.
A) Court found D’s conduct was a nuisance, but would not issue injunction because D invested $45 million and employed many people from neighborhood (even though cement plant must have known they would pour out dust before they built it).
c. Burden on the Court:
i. Co-Operative Insurance Society Ltd.: P and D enter into a lease where D would open and run a grocery chain on P’s property.  D would keep premises open during usual hours.  This is not a deal for the entire Safeway company, just a specific shopping center.  It was a 35 year lease, set to expire 2014.  But Safeway decided to close some of the less profitable stores, including this one.  They were going to lay off employees.  Closing this store violates lease.  TC ordered damages but appellate court reversed and granted specific performance.
A) Issue: Can P get an injunction requiring D to keep its grocery store running during the term of the lease (since it brings in more customers to D’s shopping mall)?

B) Holding: House of Lords reversed; no specific performance, only damages
1) Damages: money left in lease; lost rent from other businesses that leave shopping mall as a result of big store closing down.

2) Rationale: Ordering specific performance would impose too much burden on court that would have to supervise the order
a) Hard to police an order to a store to stay open: Safeway could stay open but not run the best way.  If it was only half stocked, people won’t go there anyway.

3) Alternate analysis (not used by court): Hardship on D
a) Market is not profitable; keeping store open might result in more hardship on D than benefit to P.

b) Breach of K (compared to tort) is not necessarily bad conduct by D

d. Reasons of substance or procedural policy (including 1st Am and right to jury trial issues):
i. Courts have discretion whether to grant an injunction.  That discretion comes from power of sitting in equity.  Fact that it is burdensome alone does not mean the court is not going to grant an injunction.
A) E.g., injunction of integrating schools systems was much more burdensome on court.  But social concerns were so much greater that court believed it was worthwhile.
e. Element of confusion at USSC: Did EBay change standard for injunction?  Company called Merc Exchange alleged that EBay stole their patented method of customer contact for their online auctions.  Merc Exchange wants to enforce patent on idea that people can bid on an item and it goes to highest bidder.
i. 2 requirements for a patent suit are (1) a valid patent, and (2) D infringed the patent.  Here, we have a valid patent, and allegations that EBay is infringing on it.
1) District court found that patent was valid; gave damages but no injunction

2) Federal Circuit had a general rule against injunctions that made it very hard to get an injunction.  But Federal Circuit gets reversed by USSC.

ii. Holding: USSC controversial opinion describes the “familiar” four part test for injunction that courts should use (but this is NOT the traditional test).
A) First, Court held that there cannot be a per se rule against injunctions in patent cases.  Courts must use usual rule for deciding if injunction issues. That part is not controversial.
B) “familiar” 4 part test for injunction that the USSC says is proper:

1) Plaintiff has suffered irreparable injury;
2) Damages are inadequate;
3) Balance hardships; and
4) Public interest not disserved by granting of injunction.
C) There is only one problem with the traditional 4 part test: there is NO traditional 4 part test.  Court made it up.  There is a 4 part test for preliminary injunctions, but it is NOT the test listed here.
1) Rule before this was: Irreparable Injury + Propensity = Injunction Unless Other Policy Concerns weigh in favor of not issuing injunction

2) Issue is parts 3 and 4 of the new test
a) Part 3: We usually don’t balance

i) We still don’t need to balance, except for this eBay test, b/c we know who wins so there is no risk of error.

b) Part 4: Public interest can be considered, but this is not how it was done.  P did not have to deal with it.  Burden was on D to try to get out from under the injunction.  Now, burden is on P to show that if favors him.

f. First Amendment Concerns Against Injunctions: Willing – D was walking with a sandwich board and cowbell saying P law firm sold her out to insurance company and stole money from her.  Court looked into this and there is no merit to these allegations. D want an injunction against inflammatory statements.
i. Issue: can Ds get injunction against P, a homeless lady, to stop her from making untrue statements defaming the P law firm?
A) P prefers injunction to damages b/c (1) D has no money; (2) hard to prove damages b/c of harm to reputation from slander; and (3) injunction is only effective remedy available
ii. Holding: Though P meets all requirements for injunction, other policy concerns led court to refuse to issue injunction.
A) P wants to shut D up, establishing a prior restraint of speech
B) Preference (though not iron clad) for protecting 1st Am freedom of speech; court does not like to stifle speech, especially before it is spoken.
C) Other reason: Injunction would deprive D of right to a jury trial.
D) Δ has no money, so this is essentially a decision that says πs get no money.

g. Personal Service Contracts and Concerns About Slavery/Forced Labor:
i. ABC v. Wolfe: K expired at a certain time.  It was a personal service K to perform as TV sports guy.  There is a negotiation clause that Wolfe has to agree to negotiate in good faith an extension, and also a right of first refusal that he cannot accept another K for 90 days after K ends unless he gives ABC a chance to match the deal.  A month before it expires, he signs a K with CBS.  ABC sues for specific performance.

A) Issue: Will court enforce specific performance of the that says D cannot work for another broadcaster for 90 days?

B) Rule: Generally, P cannot get injunction for personal service K b/c it is like slavery [forced work].  P can only get damages instead.

1) Damages would also be speculative b/c it is hard to measure value of sportscaster leaving network.

2) Here, P were not asking for injunction requiring D to work for them (court would not issue such injunction b/w it would be like slavery).  Instead, P wanted injunction that D cannot go to work for CBS.

a) However, court thought this is like slavery, d/n issue injunction.

ii. Thompson v. Commonwealth: Commonwealth of VA had a K to get voting machines from a D, and court granted injunction ordering company to deliver the machines.
A) Issue: Why doesn’t that violate the rule from ABC v. Wolf?

B) This was not a personal service K

1) Court has to ask if it is primarily a K for personal services.  Is it a K where one of the key provisions is who is going to perform K?

2) If it is a K for factory produced product, P d/n care who person is on assembly line.

3) The more you care who person performing is, less likely court will issue injunction.

B. Preliminary or Permanent Relief (The Law of Preliminary Injunctions and TROs)
1. Standard Four Part Test for Granting a Preliminary Injunction:
a. LA Coliseum Commission v. NFL: Raiders wanted to move to LA, sought injunction against NFL to stop NFL from acting to prevent the move (from applying section in bylaw that would block Raiders from moving to LA).  Trial court granted preliminary injunction (prohibitory).  NFL appealed, claiming there is no irreparable injury.
i. Procedural Posture: Even though general rule is party c/n appeal until final decision on merits, you can appeal a preliminary injunction decision, seek order to stay injunction

ii. Issue: Can L.A. Coliseum obtain a Preliminary Injunction to prevent NFL from employing their bylaw which would stop Raiders from moving from Oakland to L.A.?
iii. Standard four-part test for granting of preliminary injunctions:

1) Likelihood of success on merits (includes propensity and risk of error b/c judge is not hearing or seeing all evidence);
2) Possibility of irreparable injury to P if preliminary relief is not granted; [only looking at irreparable injury up to time of trial]
3) Balance of the hardship favors P [i.e., consideration of irreparable injury to D if relief is granted];
4) Public interest (in certain cases).
b. Holding: Ninth Circuit held there was no irreparable injury b/c possible harm to P is just lost revenue or harm that can be remedied with monetary damages

i. Difference b/w irreparable injury under preliminary vs. permanent injunction

A) For purpose of preliminary injunction, question is whether injury from now until time of final judgment is irreparable (finite period of time)

2. How much of a showing must P make on the elements?

a. Some courts say it is like a triangle. Other courts say that you must show a significant amount of both irreparable injury and likelihood of success on the merits in order for the preliminary injunction to issue.  Some say must show all elements, other jdx say can make up for weaknesses in one with strengths in others.

b. Where P has huge chance of success on the merits, but the risk of harm to P is low

i. Lakeshore Hills v. ADCOX:  Preliminary Injunction against home owner to not keep pet bear on property.  D is a professional animal trainer.  There’s a restrictive covenant on property that owners may not keep animals except for household pets.  Covenants did not define household pets; later at a meeting of the board, rule was passed to define household pets as excluding bears.  Trial judge ruled that presence of bear violated covenant and issued a mandatory (not prohibitive) preliminary injunction that would change the status quo.
A) Issue: Can the association can obtain a preliminary injunction that requires D to remove the bear?
B) Holding: Yes.  P has no adequate legal remedy; monetary damages will not prevent harm that P fears.  Although denial of the injunction would not necessarily have led to irreparable injury, the trial court correctly concluded that the better course was to enjoin the keeping of the bear and not risk the harm.

1) Threat of harm (if bear breaks out, threat to life and safety) outweighs inconvenience to defendant (find another shelter for bear)

2) High likelihood of success on merits; household pets d/n include bears even without a definition in the covenants

3. Stay Requests: Obtaining a Stay of a Preliminary Injunction
a. Order preventing judgment from being enforced during the pendency of the appeal.
i. Similar process as preliminary injunctions (risk of error)
ii. Stays of money judgments in CA require a bond of 2.5 times the award.  
b. Request for Stay in US Supreme Court:
i. Elements for granting stay:
1) There is a reasonable probability that four Justices will vote to grant cert.

2) There is “a fair prospect the Court will conclude that the decision below was erroneous.” [like success on merits]
3) Irreparable harm to D is likely to result from the denial of a stay. [Same as irreparable harm in preliminary injunction test.]
4) Balance of the equities, look at harm to both parties as well as the interests of the public at large. [This is like balancing of hardships.]
ii. Voter ID case: Just before 2006 election, the District Court was asked to issue a preliminary injunction that would prevent AZ from enforcing its voter ID law.  District Court said that AZ could enforce voter ID law during this election and then the case would be heard before any other elections.  9th Circuit reversed without giving any explanation and told AZ they could not enforce this law for this election and whether it could be enforced for further elections it would be decided after the trial on merits.  AZ petitioned for a stay from Justice Kennedy, who is in charge of emergency stays for CA region.  Kennedy referred it to the whole court.  The USSC treated this petition as petition for cert, and took it and decided the merits.  The USSC reversed 9th Circuit and reinstated District Court ruling.  AZ voter ID law was put in place for that election.  This all took place within a week.
c. Bush v. Gore (stay request, before actual case): Gore and Bush were in close race for presidency. It all came to FL’s 25 electoral votes.  There was a 535 vote difference between the two candidates.  FL court ordered a recount of certain ballots, which would have benefited Gore who was behind.  Republicans requested a stay from USSC—don’t let them recount the ballots.  USSC granted the stay.
i. Majority of justices believe that Bush is likely to succeed on the merits

ii. Harm to Gore if votes are not counted: Gore would lose election b/c of deadline for certification of votes (3 days left)

A) Harm to Bush if votes are counted: If you count the votes and Gore comes out on top and then Court comes out in favor of Bush, there would be a cloud on legitimacy of process and Bush presidency.  Also, there is a harm from any manual recount – diminishing quality of ballot and reducing accuracy of subsequent recounts.

B) Risk of Error: Stevens (dissenting) argued that counting every vote will never be irreparable harm

4. Injunction Bonds: Compensate D for a wrongfully issued preliminary injunction for damages occurring between T0 (request for preliminary injunction) and T1 (final judgment), but only up to the amount of the bond.  If D is harmed by preliminary injunction, but P wins the case, it does not matter that D was harmed.
a. Coyne-Delany Co v. Capital Development Board: P got contracts for first part of project, but P’s parts malfunctioned; for second part, gov required bidders to use parts from P’s main competitor.  P sough injunction preventing counting of the bids; claim that P had property right in being able to bid and so was denied due process.  At time preliminary injunction is granted, P was required to post an injunction bond.
i. If trial court erroneously issues preliminary injunction, D would suffer some harm.  Here, it’s easy to prove what issuance of injunction cost D.  Bids expired so D had to open up for new bids and the lowest bid in second round was $56,000 more than what the bid would have been had injunction not issued.
ii. Bond was for $5,000.  D can recover from the injunction bond damages that were caused by the grant of the preliminary injunction after the court finds for D on the merits.
iii. P’s argument that it did not have to pay $5,000 from the bond: That the only reason D succeeded on merits was because of a change in substantive law that occurred after the preliminary injunction was issued.  Law changed to say that contractors have no property interest/right in bidding on projects.  P acted in good faith.
A) Court rejects this argument b/c there is no good faith exception to the bond requirement
iv. D argued that P should pay $56,000.
A) Court holds that liability is limited to the amount of the bond.
B) D cannot wait until after final judgment to ask for damages above bond; must seek interlocutory appeal of bond amount.
b. Waiving the bond requirement:
i. Rule 65c – must require injunction bond, but “in such sum as the court deems proper,” which means the court can say the proper amount is zero
ii. Public interest litigation
iii. Indigent plaintiffs with strong likelihood of success and high risk of irreparable harm
iv. Some courts will waive the bond, but P must pay all the damages if the court reverses.  
5. Temporary Restraining Orders: P must give notice to D that there will be a TRO hearing, unless either: (1) P cannot find D or (2) P would suffer harm if P gave notice.  Rule 65(a)(1).
a. Carroll v. President of Princess Anne: TRO enjoining white supremacists protesters from rallying outside courthouse for 10 days.  No notice of the hearing was given to protesters; after order issued, notice was served on protestors (w/o notice, c/n be held in contempt).
i. Issue: Can court issue TRO restraining someone who d/n have notice of TRO hearing?
ii. Arguments of D: TRO is prior restraint on speech; procedural due process to hearing
iii. Court held that under ordinary circumstances, you must give notice of the hearing; TRO in this case is unconstitutional
A) TRO issued w/o notice of hearing, unless there is a good excuse, is unconstitutional
B) Fear that notice might lead defendants to carry out the very act P is seeking to enjoin might be a good reason to not provide notice
C) Good reason can also be that you tried to find D but could not find him in time
1) Protestors were available to be served with notice
b. TROs issued without notice can last for no longer than 10 days with a possible 10 day renewal for a total of 20 days (if adverse party consents).
i. Conflict in Supreme Court opinions on what happens to TRO given without notice of hearing that lasts more than 10 or 20 days with renewal.

A) One decision says TRO dissolves (Granny Goose)
B) The more common decision says it turns into a preliminary injunction that can be appealed (TROs cannot be appealed).

C) Motion to dissolve: Rule provides that adverse party may move to dissolve TRO; can appeal decision on motion to dissolve TRO

ii. Sampson v. Murray: P got TRO barring gov from firing her until gov can produce somebody to testify about the reasons for her discharge, until there could be a hearing about her preliminary injunction; gov refused to produce that person; TRO issued w/ notice of hearing

A) Rule says every TRO issued without notice must . . . and expires in 10 days unless . . . or adverse party consents to extension; single 10 day extension

1) Rule says NOTHING about length of time for TRO with notice

2) Here, TRO lasted longer than 10 days

B) Holding: TRO issued with notice lasting more than 10 days morphs into a preliminary injunction (that affects appealability)

IV. DECLARATORY REMEDIES:
A. Declaratory Judgments:
1. Distinction b/w form and function

a. Declaratory judgment is implicitly coercive (no contempt of court, but if parties ignore declaration, judge may then issue an injunction)

b. Article III allows federal courts to adjudicate only “cases” and “controversies”; first issue in this area is whether court has jurisdiction to issue declaratory judgment

2. To get a Declaratory Judgment, P does not have to prove irreparable injury, though P does have to prove there is an actual case or controversy, but a declaratory judgment can not be enforced through contempt power because it is not an order to the D.
a. Nashville Railway v. Wallace: Railway sued state gov for declaratory judgment declaring TN tax unconstitutional b/c it violates interstate commerce clause and 14th Am.  Other options: (1) seek injunction; (2) violate law and be prosecuted; (3) pay tax and sue for refund.

i. If P was seeking injunction: Injunction would say that state may not collect the tax

A) Irreparable injury: open yourself to criminal liability if you don’t pay tax

B) Propensity: gov planning and willing to collect the tax

ii. For declaratory judgment, P d/n need to show propensity, only ripeness (actual threat of injury) so that it’s not a hypothetical

A) That means declaratory judgment is easier to obtain than injunction b/c you don’t have to prove irreparable injury

B) Real dispute between parties is enough

C) Ripeness is similar but may be less than propensity

iii. Declaratory judgment would say that tax is unconstitutional

3. Declaratory judgments are useful for eliminating uncertainty, as in the validity of patents or insurance disputes.
a. Cardinal Chemical Co v. Morton International: Morton sued Cardinal for patent infringement; Cardinal defended on infringement and filed counterclaim for declaratory judgment that patents are invalid.  Trial court found that Cardinal did not infringe and issued a declaration that patents were invalid; Federal Circuit agreed that there was no infringement, but vacated declaration b/c issue was moot at that point.

i. There was a Federal Circuit per se rule that once no infringement is found, declaration on validity of patent is moot and would be vacated; no declaratory relief b/c there is no case or controversy at that point

ii. Issue: Whether courts should rule on validity of patents once it has been determined there is no infringement?

iii. Holding: Supreme Court reversed saying that court must still decide on declaratory relief

A) Continued uncertainty if federal circuit rule is followed b/c it was not clear whether or not the patent is valid; people would be deterred from marketing product if validity of patent is unclear b/c it never got decided by court
B) There is an actual controversy; declaratory judgments are good for removing uncertainty; decide once and for all whether the underlying patent is valid

4. Tactical Issues

a. Ex Parte Young: Federal court can and will grant injunction barring enforcement of unconstitutional state law; court can also issue declaratory relief

b. Abstention issue (Young & Younger v. Harris): Have to go to federal court for relief before there has been any action in criminal prosecution by the state: once prosecution begins (indictment), federal court will abstain from issuing declaratory relief.

c. Forum shopping more generally (rule on personal injury cases)

i. When court thinks that declaratory judgment is sought for purpose of forum shopping, it will likely deny it.

d. If you sue for and only for declaratory relief, then you can come back and sue later in the same case; collateral estoppel as to actual issue decided but not res judicata (not claim preclusive); but if you sue for declaratory and other relief, claim is res judicata

i. Declaratory Judgment is not res judicata regarding anything other than the particular issue, but if a party asks for anything more than a declaration, it is res judicata.

ii. Advantage of seeking only declaratory judgment is streamlined litigation focused solely on a particular issue
B. Other “Declaratory” Remedies:
1. Nominal damages: form is like compensatory damages, but function is declaratory 

2. Declaratory Judgment: When someone threatens to sue you, you can sue first
a. Newman Machine Co v. Newman: Dispute over stock shares; Newman did not sue, made demands to plaintiffs, threatened to sue; so plaintiffs sue him for declaratory judgment
i. Cloud on title of business and value of its stock – threatened lawsuit
ii. Declaratory Judgment Statute said that if there was a dispute over real property, you could file a suit for declaratory relief; but here, the dispute is over shares of stock in a company
iii. Court held there is no adequate remedy at law, special circumstances; suit not maintained under statute but under common law as action to quiet title to personal property

3. Bills to quiet title are just a kind of declaratory remedy that says who owns the property.
4. Reformation & Rescission: Reformation rewrites the K to conform to the party expectations and is most common when there has been a mutual mistake or unilateral mistake due to the other party’s fraud (in such case, P has option to choose between these two remedies).  Rescission undoes the K and the parties must return the consideration.
a. Hand v. Dayton-Hudson: Hand is an attorney employed by Dayton-Hudson; Dayton went thru restructuring and fired Hand; part of severance package is a $38K check in return for release of any claim against company.  He took contract, changed clause about release (“except for age discrimination and breach of contract claim”.  It looked exactly the same and used a typewriter.  Both parties signed.  He then sued for breach of contract and age discrimination.
i. Lawyer committed fraud on his former client.  Issue is not whether he loses or not, but how much does he lose?  What is the remedy?
ii. Reformation: Contract would be reformed or rewritten the way it should have been without the fraud, and then it would be enforced.
A) Court declares that contract actually says X; in function, court is restoring the parties to the rightful position
B) Hand would keep $38K, but cannot sue for breach of contract or discrimination
1) This makes reformation more advantageous for Dayton-Hudson
C) If there is no mistake about the writing, reformation is NOT an option
iii. Rescission: No release, Hand would have to give back the $38K, but he can then sue.

A) Hand argued that reformation should not be available here b/c it usually requires a mutual mistake of fact as to the writing; here there’s a unilateral mistake as to the writing.

B) Court rejects Hand’s argument; basis for reformation can be unilateral mistake plus fraud as to the writing by the other party

V. RESTITUTION
A. Disgorging Profits:
1. The Basic Principle: Preventing Unjust Enrichment

a. Restitution is two different things: a substantive area of law and a remedy.

i. Quasi-contract, quantum meruit, constructive trust, replevin, ejectment, equitable lien are all restitutionary claims.
b. Restitution is measured by D’s gains, not P’s losses.

i. The worse the conduct of D (the more consciously D has engaged in wrongdoing), the greater the benefit conferred on D

c. Restitution is about unjust enrichment
i. If there is no enrichment, there can be no restitution.
ii. If the enrichment was not unjust, there can be no restitution
2. When is restitution available as a matter of substantive law?
a. Benefits conferred by Mistake
b. Benefits conferred by transferor with defective consent or authority
c. Benefits conferred intentionally in emergency situations by professionals; contrasted with “officious intermeddlers” and “good Samaritans” (do not have to pay someone who forced a benefit on you without asking)
d. Benefits conferred by contract
i. When contract is unenforceable
ii. As an alternative measure of recovery in some breach of contract claims
iii. As a remedy for a “breaching party” to offset a claim for breach of K
e. Benefits obtained through tortuous or otherwise wrongful conduct
i. Trespass or conversion
ii. Misappropriation of assets
iii. Interference with intellectual property rights
iv. Breach of fiduciary duty
v. Other wrongs (catch-all)

3. Restitution is attractive to plaintiffs in three circumstances:
a. There is no other cause of action.
b. D’s gain exceeds plaintiff's loss.
c. D is insolvent and P can get a preference in bankruptcy by seeking restitution of the specific property that used to be his.

4. Olwell v. Nye & Nissen Co: P sold D share in his company, retained right to own full possessory interest in egg washing machine; D uses machine without knowledge of P

a. Claim: D illegally used machine for 3 years in the factory

b. Cause of action: tort of conversion, trespass to chattels, some interference with personal property

c. Remedies – options

i. Damages: reasonable value at time of wrong + cost of use (depreciation of machine)

ii. Injunction, replevin

iii. Restitution: from point of view of gain to defendant

A) Here, restitution is the more attractive option b/c D’s gain exceeds P’s loss

d. Here, Plaintiff waived the tort and chose to sue in assumpsit on the implied K

i. He’s waiving the right to get damages in tort (not waiving the tort; he still has to prove the tort to get restitution; what’s being waived is the right to tort damages)

ii. In tort suits, plaintiffs traditionally had election to sue for damages or restitution

iii. Suit is called “quasi-contract” (not a real contract, as if there was a K); writ of assumpsit is name of writ to sue in quasi-contract (for restitution)

e. Benefit to D: D did not have to employ somebody to hand wash the eggs; D also did not have to rent or buy an egg washing machine.

i. $600: fair market value of machine 3 years ago (this is just loss to P)

ii. Reasonable rental value for 3 years has to be less or around $600 (otherwise D would have bought another machine – assuming no cash flow problem)

iii. Savings in labor cost: $10 per week, $1560 over 3 years

f. Court gives P the generous measure; choice is between cost of renting machine over 3 years and labor savings over 3 years

i. D engaged in conscious wrongdoing; knows he has no right to use machine; bypassed market

ii. Court picks measure that’s generous to P and looks punitive to D

iii. Court affirmed judgment of $1560 to P

5. Restitution should be allowed where there is a working market for the misappropriated good or service.
a. Contrast Olwell with Vincent: D did not bypass market; tort necessity case; had to tie ship to dock during a storm; no opportunity to negotiate or shop for a better price.
i. What made D’s conduct so bad in Olwell and not Vincent, is that in Olwell there was a working market and D bypassed that market.  D decided to not negotiate and just take the property and make it his.
6. Measuring D’s Gains: Mixed Assets or Mixed Products: D wrongfully takes something from P and mixes it with something else, and that combined product yields profit.
a. Accounting for Profits: Maier Brewing Co v. Fleischmann Distilling Corp – P distills black and white label whiskey; D decided to sell beer under same label; P sues for trademark infringement.  No competition b/w scotch and beer (people going to buy scotch are not going to buy beer).
i. P’s losses: Damages for possible loss of sales b/c people would think less of the scotch if the beer was low quality (same label); reputation damages

A) D’s gains: P’s name label has been misappropriated; P’s label was mixed with beer; profits attributable to the misappropriation

ii. Remedy of an accounting for profits (equitable restitutionary remedy, but when not coupled with constructive trust results in money judgment)
A) Begins with gross receipts from sale of beer

B) Deduction of expenses

C) What the court did not do was ask how much of the profits were attributable to the stolen trademark and how much was due to it being beer.
1) Culpability of D is relevant to allocation and amount of recovery; culpability was significant even though some profits may not be linked to the infringed label.

iii. Court allows remedy of all profits from sale of beer = receipts – expenses, w/o any allocation
A) Where there is reputational harm, measuring damages is difficult

B) Results would be different if D did not know it was stealing P’s label

b. Constructive Trust: Snepp – Snepp was employed by CIA.  Prior to employment, he signed a K that said he would never divulge any confidential info, and CIA had right to pre-publication review.  Terms: You could never publish confidential info.  You can publish non-confidential info, but must give to CIA first for review.  Snepp published a book about Vietnam.  It had a lot of non-confidential info, but he did not give CIA prior review.  CIA conceded that there was no confidential info.  But it is still a breach of K.  District court imposed constructive trust to give CIA all profits from the book ($60K advance + royalties).  Appellate court got rid of constructive trust and gave damages (since gov could not prove damages, they got $1 nominal damages and remand so they can try to prove punitive damages based on breach of fiduciary duty not K)
i. Issue: Whether P could get restitution or only damages?
ii. Holding: Court reverses, holding that P is entitled to constructive trust.
A) A constructive trust is a restitutionary remedy, not a cause of action; like a quasi-K
B) Tracing: the constructive trust allows P to go from one asset to the next to the next.  If in bankruptcy, allows P to get priority.  Constructive trust is powerful.

C) Deterrence: Giving all profits from book deters gov employees from disclosing national secrets; much better deterrence than possibility of punitive damages
D) No damages: D d/n make any profits b/c he d/n get CIA pre-publication review

E) Whether D had a fiduciary responsibility to P is irrelevant to imposing a constructive trust; can do the same thing to a bank robber who invests in Microsoft.

F) Some restitution is legal, and some equitable.  Constructive trust is equitable, and you must show irreparable injury.  Sometimes courts forget to do this (they do not forget for injunctions) but this is the right way.
c. Apportioning Profits: Sheldon – Sheldon wrote a play about a woman who killed her lover and escaped punishment, based on a 19th century event.  Metro Goldwin Meyer made a movie starring Joan Crawford.  Some of the script was lifted from someone else’s copyrighted material.  There were negotiations beforehand and a price of $30k had been fixed but the deal fell through.  So, MGM decided to steal it instead.  We have a wrong that is recognized by the law, either by common law or statute.  Misappropriation or copyright.

i. P wants restitution b/c amount he could have sold play for, $30k, is less than the movie studio’s profit.  P thinks damages would be less than restitution.

ii. Court decided to apportion profits b/c not all profits were attributable to copyrighted lines.  If movie was produced w/ same stars and budget but 30 copyrighted lines were slightly changed, movie would have still been a big hit and made lots of money.

A) With allocation, amount of restitution will be lower than total profits from the film; D would only have to pay for the part of the profits that are due to misappropriation.

B) Some courts will not apportion, but many courts will if D asks for apportionment.

1) Trial court heard P’s expert who said D should pay b/w 0% and 12% of profits.  But trial court decided to apportion at 25%; appellate court reduced to 20%

a) MGM’s conduct was really bad.

b) Perfect example of bypassing the market; not only were negotiations possible, parties did negotiate and then the deal fell through.

2) Holding: Supreme Court affirmed the apportionment due to MGM’s bad conduct.

C) The Copyright Act provides that infringer can pay damages suffered as well as profits.  At common law, it is a choice between restitution and damages.  But under copyright act, you can get both so long as not duplicative.

d. Calculating Profits

i. Calculating Expenses: Variable costs are deducted as expenses; a portion of the fixed costs are deducted as expenses.
A) Hamil America: Hamil sued GFI for copyright infringement for copying a coral fabric pattern.  Trial court found infringement and awarded profits (restitution though court called it damages).

1) Copyright Act formula for restitution =  Gross sales of infringing goods – Costs of production and sale
2) Gross Sales of Infringing Goods: Not all the sales that D company makes, just the sales of items that included the infringing pattern; the infringing product is mixed w/.
3) Cost of Production and Sale: GFI submitted a list of expenses, including overhead expenses.  TC rejected overhead expenses submitted by D b/c D would have used those expenses anyway (e.g., expenses for a country club membership).  We have to draw a distinction between variable costs and fixed costs.
a) Variable costs: the actual item.  E.g., cost of buying fabric that the infringing pattern was printed on.  These are costs that the infringer will not incur if not producing the item.
b) Fixed costs: Rent, depreciation, insurance.  Fixed costs are certainly relevant to profitability of company.  We want to take a portion of the fixed costs and allocate them to each product.

i) Maybe divide fixed costs equally among all products, OR
ii) Divide along the same ration that each product makes up total profits.

4) No question that variable costs can be deducted.  Bigger question is the fixed costs - they are not tied to the specific item and they are spread across the company.

a) TC said D could not submit those fixed expenses.  AC reversed, held that D can.
B) How to deduct fixed expenses:
1) Two step process:
a) Find categories of overhead w/ a substantial and direct nexus to producing item
b) Come up with a fair and acceptable allocation formula for fixed costs
2) Burden of proving expenses is on D.  If all D does is put in evidence of revenue but no evidence of expenses, entire sum will go to P, or maybe allocation of how much of profits is due to misappropriated item, but no subtracting of expenses.
3) The worse the conduct of D, the stinger is court about subtracting out expenses, both on question of what categories get included, and on question of proper allocation.  
C) Apportionment involves 2 questions:

1) Question in Sheldon: What percentage of the profits is attributable to the misappropriated item?

2) Question in Hamil: What expenses may defendant deduct to show its profits?

ii. Mixtures of misappropriated and non-misappropriated goods:
A) Gaste: Gaste used music from the song “feelings” but used his own words.  Music was registered under US copyright.  This is a mixture of misappropriated material and his own material.  Jury awarded profits with 12% deduction for lyrics and 8% for costs.

1) Issue 1: How much of the profits relate to the music (which was stolen) versus the words (which were not stolen)?
a) Question of how to allocate profits from a mixed asset is a jury question.  If jury had said 50-50, there is virtually no chance that would be overturned.
2) Issue 2: Did jury properly allocate costs?
a) D argues that their costs should reduce award to $0; that 90% of company’s overhead should be attributed to “Feelings” b/c it brought in 90% of revenue.
b) Company published 200 songs, so maybe overhead should be 1/200th.  If you have a successful song, it is reasonable that the company would spend more promoting that song, but it is D’s burden to show that.  Here, D did not carry the day.  It is even harder with an intentional wrongdoer.
B) Bought and Paid for Rules:

1) When you are taking out expenses, you only get to take out expenses of things you bought and paid for.

a) E.g., MGM is an infringer.  It paid Joan Crawford to be in the movie, and they can subtract that.  But they cannot subtract value of their own labor.  Like if I worked on this song for 6 hours and my usual fee is $300 per hour.

2) When you allocate b/w misappropriated asset and the other, some courts say that you do not give any credit to the wrongdoer for the wrongdoer’s reputation.

a) If part of the reason everyone was buying D’s version of “Feelings” is that people love D, some courts will not take that into consideration.
b) A wrongdoer with talent is treated much worse than a wrongdoer who hires someone with talent.

C) Four Step Process of Apportionment (where misappropriated item mixed with others):
1) Identify revenues from the misappropriated or mixed item
2) Deduct variable costs.
3) Deduct appropriate portion of fixed costs if allowed by court (evidentiary burden and method of allocation may depend on culpability of infringer).
4) Apportion profits attributable to misappropriated item in mixed item cases using some reasonable method of apportionment, except that some courts will refuse to apportion and will award all profits to P.

B. Restitution and K:
1. Rescission (aka Cancellation)
a. Mutual Benefit: Company submitted application for life insurance of company president for $250k.  It was a key-man policy for its CEO b/c that person is valuable for that company being successful.  They represented the president as a non-smoker.  He actually smoked ½ a pack a day for last 10 years.  He is not a serious smoker, but enough of a smoker that he could not credibly say that he forgot.  Even for innocent misrepresentations, may be some relief for insurance company.  President dies, and insurance company investigates and finds out he was a smoker.

i. Issue: Can insurance company get rescission of the insurance K b/c president misrepresented himself as a non-smoker in the application?

ii. Rule: P can get rescission of K if there is a material misrepresentation of fact.  When it comes to insurance Ks in many states, innocent misrepresentation of fact is enough.

A) If rescission is granted, CEO’s company gets back all their premiums plus interest, and insurance company tears up K and d/n have to pay policy.

1) Company wants to receive the amount of insurance proceeds that they would have gotten for the amount of premium payments they actually made if those premiums were paid against a smoker’s policy.
2) Rescission may be punitive b/c it gives windfall to P: Insurance would have sold a lower policy if they knew CEO was a smoker, so they would have paid some policy amount upon his death, just a lot less.

B) Rescission is classified as restitutionary but it is different from quasi K and constructive trust.  Rescission only occurs when there is a valid K that can be undone.

b. Cherry v. Crispin: There were termites.  Even though termite problem was fixed and damages could account for lowered value of house, buyers of the house get to rescind.

i. Even if motive for seeking rescission is pretext (buyer’s remorse), buyer can still rescind K if there was a material misrepresentation of fact.  If this is pretext, court may not be friendly.
ii. To completely undo the deal, have to consider gains during that time.

A) When you use rescission, return the parties to the position they were in had there been no K - or as close as possible.

B) Sellers give back purchase price and buyers give back house and rental value of house when they were in it.
C) The more there has been performance, the harder it is to rescind.

c. Rescission may be available where the K is unenforceable.  Sometimes, a court will allow rescission where K is unenforceable even where D has not received a benefit, though it is not intellectually honest (court should say it is allowing reliance to substitute for SoF writing).
i. Farash v. Sykes Datatronics: P and D agreed that D would lease P’s building if P had done some modifications inside the building.  Landowner (P) spent a lot of money on modifications, then tenant said he changed his mind.  No expectancy or reliance damages based on contract, and no restitution based on unjust enrichment.

A) There was no written contract; under NY statute of frauds, contract for interest in land must be in writing (no breach of K claim).

1) Exception to statute of frauds may be reliance as a substitute for consideration; but this does not work here b/c NY law d/n allow this exception

B) Restitution claim: There was no benefit to the prospective tenant, no enrichment.

C) Court said we don’t know what you call it, but there has to be recovery in this case for the value of improvements
1) Implication: How do we measure damages if we don’t know what to call this?

2) General rule on reliance damages is that they cannot exceed expectancy damages or K price.  So you cannot use reliance damages to exceed K price.

2. Losing Contracts: Issues in losing contracts go to when restitution can substantively be available in K law.  Non-breaching party wants to sue for restitution rather than for breach of K damages.  
a. In cases of losing contracts, restitution is more attractive than K damages (reliance damages cannot exceed expectancy damages or K price).
i. K price is evidence of value to both parties but not dispositive
ii. Restatement of K says court can choose whom to believe and K price is not a cap on restitution.  However, Restatement of Restitution says K price is a cap on restitution.

b. P cannot get restitution when one side’s performance is complete.  
3. Opportunistic Breach of K: Potential way to get restitution even after K is complete.  Restatement says that restitution should be available when there is an opportunistic breach of K.  Three Elements:
a. Material breach of k
b. It was opportunistic, meaning deliberate and profitable (notice that k law is about efficient breach and not moral culpability).
c. Damages are inadequate

C. TRACING: Useful when D has made gains through the change of P’s particular property into new property; useful for getting priority in bankruptcy

1. Hicks v. Clayton: Clayton was Hicks’s lawyer, entered into transaction with his client, bought property from his clients in exchange for worthless stock.  Clayton was in bankruptcy, money damages would make Hickses into a creditor with no preference or priority (in line with other creditors).  Hickses want to get the house back rather than sharing with other creditors.  Trial court said there is no constructive trust; found that damages were adequate.
a. In bankruptcy, court takes all your assets and appoints trustee to allocate assets among creditors (some assets are exempt); there are certain priorities

b. Issue: Should Hickses get preference over Clayton’s other creditors?

c. Holding: Damages are inadequate and Hickses are entitled to a constructive trust over the house, as though Clayton was holding it in trust for them; this is a restitutionary remedy

i. Identifiable Asset + Fraud or Misappropriation + Irreparable Injury = Constructive Trust

A) Constructive trust gives Hickses preference in bankruptcy (they get to take the whole house, without having to share with other creditors)

B) Irreparable injury b/c in bankruptcy there are insufficient funds

d. In bankruptcy, if you can trace, you get a priority by getting back that very thing.  But suppose the thing is worth more, like the stock goes up in value.  In bankruptcy you only get the 10k you lost.  The 40k profit is going back into the bankruptcy estate.

2. In re North American Coin & Currency: Principals or owners realized company is in financial trouble, decided to try to save company by pitching to investors at meeting; for week prior to meeting, they placed all money from new transactions in special “trust” account; they intended to either refund those customers in case company fails, or to use the money to fill these orders.

a. Creating “special” account did not create an express or real trust, it’s just a separate account (general trust law)

b. Issue: Whether money in this “special” account goes into the estate or belongs to the customers who bought coins in the last week?

c. In order to get preference in bankruptcy, have to show fraud + identifiable asset

i. Assets are identifiable: “in the account” (fictionally identifiable); though there is a mingling of assets from all customers who placed orders in last week, assets are still identifiable

ii. However, court found there was no fraud; it’s not fraudulent for company not to disclose that it’s in financial trouble.  They were genuinely trying to stay in business; good faith belief that they were going to fill the orders = no scienter for fraud.

3. Tracing assumptions or rules when D mixes P’s assets with his own:
a. Lowest intermediate balance rule

b. D spends his money first on bad investments.

c. D spends P’s money first on good investments.
D. Restitution from 3rd parties:

1. Rogers v. Rogers: Husband named Wife #1 beneficiary of life insurance policy (from employer); policy in existence at time of divorce; divorce agreement promise to maintain the $15,000 life insurance policy and keep her as the beneficiary.  He later leaves the job, insurance policy disappears b/c it’s tied to the job.  He gets married and gets another job that gives him a life insurance policy for $15,000 with wife #2 as beneficiary.  He died.  No question there’s a breach of contract action against estate, but estate is insolvent.  So Wife #1 sues Wife #2 for constructive trust over proceeds of second life insurance policy

a. Tracing problem:

i. Wife #1 cannot technically identify the asset anymore b/c first insurance policy disappeared; it’s just a coincidence that there’s another insurance policy issued by another employer for the same amount.  Under normal tracing rule, there is no tracing.

ii. Court is willing to relax tracing requirements in this case, to thumb the scales:

A) Family law presumption – court has preference for favoring first family b/c it’s likely to be forgotten in will arrangements

b. Substantive restitution (unjust enrichment):

i. Rule: You can trace with a constructive trust into the hands of a gratuitous donee, but you cannot trace asset into hands of a bona fide purchaser without knowledge of claim.

ii. Wife #2 received a gift (this would be different if she was bona fide purchaser)

A) However, regardless of Wife #2 being a donee, Wife #1 cannot trace; the court had to thumb the scales to assume tracing b/c of policy reason (only in family law context)

2. Robinson v. Robinson: Couple got married; built house on land owned by husband’s parents after getting their permission to build and construction loan from bank; after divorce, wife wanted her share of the house (not claiming interest in the land).  She alleged that she had an agreement that the parents were going to give her and husband the land on which they built the house

a. Mistaken improver case: Problems of liquidity and valuation
i. Liquidity problem: Owner did not ask for improvement; may not have money to pay for it

ii. Valuation problem: Costs $5,000 to build structure but improves value of land by $10,000; but its value to landowner is smaller than that

iii. Old Rule: No remedy unless landowner saw you make improvements and did not stop you.

b. Court said as a matter of substantive restitution, ex-wife is entitled to recover

i. Even if there’s no agreement, in-laws knew and approved construction of the house; they didn’t stop her from building it

c. Ann wants Equitable Lien (restitutionary remedy that gives P a remedy in a dollar value against the land); if owners of land d/n pay, she can force sale of land to recover that amount – though court has power to delay P’s ability to force sale of property

i. In contrast, Constructive Trust is a percentage interest in land

d. Trial court ruled that Ann was entitled to one-half appraised value of improvements less value of land after making provision for payments of the construction loan.  So that’s: $83,000 (value of entire property) – $12,000 (value of the land) – $15,000 (value of the loan) = $56,000 divided by 2 b/c she gets a half-interest, or $28,000.

i. If parents don’t pay her $28,000, she can foreclose on property and force sale, first bank would get $15K balance on loan, then she would get her $28K.

ii. Amount of equitable lien is fixed in dollar amount.  If after judgment value of house appreciates, she does not get any addition to the lien; lien is still for $28K

E. Other Restitutionary Remedies:
1. Subrogation, Contribution and Indemnity: American National Bank & Trust v. Weyerhaeuser: Someone forgot to check a box; if it had been checked, 24,000 of the 40,000 shares would have been available for buyback.  American paid off damages that IL board suffered, made its customer whole by buying 24,000 shares of Weyerhaeuser.  After American learned of the rejected tender, it bought 24,400 shares from the Board for $32 per share, selling it for $29.12, for a loss of about $70,000 (32.00 – 29.12 = 2.88 X 24,400 shares = $70,272).  Then, American sued Weyerhaeuser and First Jersey for subrogation.
a. Contrast “legal subrogation” (which, despite its name, is an equitable right) with “conventional subrogation” (insurance contract, studied earlier in terms of the collateral source rule)
b. How is the claim for subrogation restitutionary?
i. IL board c/n sue First Jersey Bank b/c they have already been made whole by American
ii. Subrogation allows American National (subrogee) to step into the shoes of IL Board (subrogor) & sue First Jersey in same way that board could have sued directly; shifts the risk
c. American did not have a legal duty to pay the IL Board, so why did it pay?
i. Business reason: to keep customer happy
d. What does American have to show to get subrogation? 4 requirements
i. Subrogee (that’s American here) paid the debt in full
ii. Subrogee paid a debt for which 3rd party, not subrogee is primarily liable.  
iii. Subrogor (that’s the Board here) had a right to enforce against the defendant 3rd party and subrogee is seeking to enforce the subrogor’s right.
iv. Subrogee is not a volunteer; subrogee must be paying the debt to protect his own interests and rights; it cannot be a mere stranger who has nothing to do with the transaction.
2. Replevin: Legal remedy for specific relief not subject to the irreparable injury rule
a. Remedy for return of personal property; no injunction, court can order sheriff to seize property
b. Entitled to damages for loss of use
c. Not always best remedy; d/n entitle you to difference in value, only damages for loss of use
3. Ejectment: Restitutionary remedy for recovery of possession of specific real property
a. Damages for loss of use also available
VI. PUNITIVE DAMAGES
A. Purpose of punitive damages is to punish and deter (aka exemplary damages)
1. General and specific deterrence
2. Usually amount goes to P (though sometimes part to state), resulting in potential windfall to P

3. Economist would say punitive damages is not a means of punishment, but means to obtain optimal amount of deterrence
4. Rightful position generally not applicable to punitive damages

B. Prerequisite to award of punitive damages:
1. Most courts say there has to be an award of compensatory damages first, but in some jurisdictions nominal damages are enough.  A few jurisdictions allow equitable relief like an injunction to satisfy in appropriate cases.
2. Some courts will not allow punitive damages coupled with restitution.
C. Three Main Questions with Punitive Damages:
1. What conduct is bad enough to merit the award of punitive damages?
2. How do courts review amount of punitive damages if they are not tied to the rightful position?
3. When, if ever, may punitive damages be awarded in K case?
D. Grimshaw v. Ford Motor Co: Pinto car exploded when rear ended; plaintiff was badly burned; products liability lawsuit; jury awarded $2.5 million in compensatory damages, $125 million in punitives.  Rush project with minimal testing; placement of fuel tank, bumper was weak, minimal crush space put fuel tank in jeopardy with any accident.

1. Compensatory damages: Past and future medical expenses; c/n speculate about future lost wages so P (young w/ no work history) could not recover for those (could not prove w/ sufficient evidence)
2. Negligence is not enough to justify award of punitive damages
a. Ford’s conduct was reprehensible b/c they did not meet minimal standards; violated gov safety standards; balanced life and limb against corporate profit in reprehensible way that did not value human life enough (internal memos said we can save some lives by making these changes but it’s not worth it b/c cost of those claims would be less than cost of design changes)
3. Standard in CA for punitive damages:
a. Civil Code section 3294 (a) In an action for the breach of an obligation not arising from contract, where it is proven by clear and convincing evidence that the defendant has been guilty of oppression, fraud, or malice, the plaintiff, in addition to the actual damages, may recover damages for the sake of example and by way of punishing the defendant
b. Clear & convincing evidence standard = more than preponderance of the evidence, less than “beyond a reasonable doubt”
c. Conduct has to be worse than negligence
d. Implied malice: Conduct showing a conscious disregard of probability that the conduct would result in injury to others
4. Ford complained that jury instruction on malice used word “possibly” instead of “probably”; argued that this lowered the standard
a. Court disagreed; instructions as a whole told jury that negligence is not enough
b. Bifurcated trial prevented jurors from finding D liable b/c it’s rich; wealth only relevant to second phase of trial on punitive damages
5. Amount of Punitive Damage Award: Ford complained that amount of punitive damages was so excessive that a new trial on that issue must be granted; conduct was not bad enough; amount was too high that it must have been result of passion or prejudice
a. Trial court reduced punitive damages from $125 million to $3.5 million.  Plaintiff appealed this reduction; remittitur (either accept new trial or take $3.5 mil)
b. Jury is not given a cap, just told to take certain factors into account: how bad is the conduct; how wealthy is the defendant; general deterrence of other companies
c. California factors for considering punitive awards (judge-made factors):
i. Degree of reprehensibility
ii. Wealth of defendant
iii. Ratio to compensatory damages (here it was 1.4 to 1)
iv. Amount necessary for deterrence
d. If amount is too high: Court can order remittitur, though now there is authority for court to just enter judgment in lower amount (there’s a question as to whether that violates the right to a jury trial under state or federal constitution)
E. Supreme Court on Amount of Punitive Damages Sitting as a Common Law Court
1. Exxon: Big oil spill, lawsuit brought under federal maritime law (primarily common law).  Exxon’s bad conduct was allowing alcoholic captain to remain on duty.  Jury awarded compensatory damages of $500 million, punitive damages of $5 billion.  Ninth Circuit remands, trial court reduces punitive award to $4.5 billion; Ninth Circuit reversed and lowered amount to $2.5 billion

a. Holding: $2.5 billion in punitive damages was too high

b. Supreme Court chooses ratio over dollar amount for limiting punitive damages

i. Court held that in this case, ratio of 1:1 is appropriate, compensatory to punitive damages

ii. Recognizes interests served by punitive damages, including dealing w/ under-deterrence
iii. Souter compares ratios to caps
A) Cap method is not good idea b/c of variation of wrong conduct & compensatory damages
B) There must be some reasonable relationship b/w compensatory and punitive damages

C) Footnote: Ratio of 1 to 1 might be constitutionally required!
c. This holding is not binding on state courts b/c this was not a constitutional case
2. Constitutional limits on the amount of punitive damages:

a. Limits under the “Due Process” clause of 5th/14th amendments
i. Substantive rather than procedural due process
3. Hazlet: Ratio was 4 to 1; Court held that’s close to the line of constitutional excessiveness;
a. Next case: 5 to 1 ratio was upheld
4. BMW v. Gore: In Alabama, conduct was tort of misrepresentation (not disclosing to customer that car has been repainted).  Jury awarded $4,000 in compensatory damages; $4 million in punitive damages; AL Supreme Ct lowers this to $2 million b/c jury based decision on out-of-state conduct.

a. Holding: US Supreme Court lowered punitive award to $50,000; identified 3 guideposts
i. Reprehensibility of conduct
ii. Ratio of punitive damages to actual and potential compensatory damages; higher ratio would justify lowering award
iii. Sanctions for comparable conduct (used to decrease punitive awards)
A) AL statutory law: how much would BMW have been fined for this kind of conduct?
5. State Farm v. Campbell: Family member of driver who was killed sued Campbell and injured passenger, settled for policy limits of $25,000 (b/c they knew Campbell had no money).  State Farm rejected offer even though their own investigation revealed that Campbell was liable.  State Farm put things in the file that were erroneous.  Jury finds Campbell liable for $185,000; State Farm said they would cover the policy limit of $25,000.  Under state law, State Farm had duty to settle when they found out Campbell was liable.  Plaintiff’s lawyer made deal with Campbell to give them 90% of his claim for bad faith against State Farm.  Campbell sues State Farm for bad faith representation.  Jury awards Campbell $2.6 million in compensatory damages, $145 million in punitive damages; appellate court reduces compensatory and puntives to $1 million; UT Supreme court restores $145 million punitive award but keeps $1 million in compensatory damages
a. Holdings: 145:1 ratio unconstitutional; Guideposts (BMW) become more restrictive & mandatory
i. On ratio, ordinarily no more than a “single digit” multiplier to actual or potential compensatory damages; in cases of significant compensatory damages, Court suggests 1:1 ratio may be most appropriate.

ii. In order to introduce evidence of conduct towards third parties, there has to be a sufficient nexus b/w conduct towards third parties and conduct towards P

A) Only evidence of conduct in state can be introduced, and only conduct w. sufficient nexus

iii. Wealth of defendant cannot be used to justify an otherwise unconstitutional award

6. Federal Constitutional Standard vs. California Standard:

a. California Standard:
i. Degree of reprehensibility

ii. Ratio b/w compensatory and punitive damages must be reasonable

iii. Sanctions for comparable conduct used to increase punitive awards

iv. Amount necessary to deter (one factor can be wealth)

b. Federal Constitutional Standard:

i. Degree of reprehensibility

ii. Ratio b/w actual & potential compensatory damages & punitive damages (but much stricter)

iii. Sanctions for comparable conduct used to decrease punitive awards

iv. Wealth cannot be used to justify otherwise unconstitutional award (wealth can be relevant, but can’t be a basis for unconstitutional award)

7. Phillip Morris: First case with two newest Justices; decided after O’Connor & Rehnquist left Court.  Guy smoked for 50 years, got lung cancer and died; family sued for fraud b/c PM knew of risks of smoking but assured public that it’s safe.  Jury awarded $21K economic damages (old P, retired); $800K for non-economic damages (state had cap of $500K, court lowered to cap); $79.5 million in punitive damages
a. Court did not reach ratio question; found that Due Process clause required procedural limitations; P’s lawyer argued to jury that they should think about all other victims of smoking
b. Under Campbell, there’s a sufficient nexus b/c conduct towards P and conduct toward other victims who saw the same exact ads as long as ads and other victims were within state.
i. Court, however, said this is still not ok b/c D must have opportunity to face and question these other victims
ii. Holding: Jury is not allowed to use injuries to third parties to come up with punitive award.  Evidence of conduct against third parties is inadmissible for purposes of punishing D.  It is, however, relevant for purposes of assessing reprehensibility of conduct!
A) Nexus requirement from Campbell still applies, but evidence may only be admitted indirectly for purposes of reprehensibility

F. Punitive Damages in Contract Cases:
1. Cal Civil Code 3294(a) “not arising from contract” – d/n really mean they are never available in K

2. Punitive damages are available where conduct of D in breaking K is tortuous.  Punitive damages are sometimes available in cases where there is both K and an independent tort.

a. Medical, insurance examples.
b. Key question: Is D’s conduct of breaching K also a tort?
3. When is breach of contract an independent tort?
a. “Special relationship” (not necessarily a fiduciary relationship)
b. Variation on “economic harm” rule: Breach of K that causes physical injury or property damage is also a tort (e.g., hired contractor to remove tree from property; contractor arrives drunk and knocks tree into car; can sue for both tort and breach of K)

c. Negligence in professional service contracts (e.g., accountant malpractice) in many jurisdictions.  But some jurisdictions say no punitive damages in such cases for negligence
4. Rise and Fall of the “Seaman’s Tort” for Bad Faith Denial of the Existence of a Contract
a. Elements of “Seaman’s Tort”: Denying in bad faith the existence of a contract
b. Criticisms: (1) Increase in cost of contracting; (2) undermines efficient breach, hurts planning
c. Freeman & Mills v. Belcher Oil Company: $77K in accounting bills; sent bills; client took position that there’s no valid K so they will not pay; accounting firm sues client first for breach of K and for bad faith in denying existence of K (Seaman’s tort)

i. In order to prove Seaman’s tort, have to show D denied in bad faith the existence of a contract; punitive damages are allowed.

ii. Issue: Whether CA Supreme court is going to affirm the tort, expand, or limit it
iii. Holding: Court rejects idea that bad faith in denying existence of K is an independent tort
A) Overturns Seaman’s
B) How to create independent tort involves questions of policy
C) P is not entitled to punitive damages, just breach of K damages (difference b/w what was promised and received; attorney’s fees if available under K; no emotional distress award)
iv. Justice Mosk's Suggested Categories in Addition to Special Relationships:

A) Breach accompanied by a traditional common law tort, such as fraud or conversion
B) Tortious means used by one contracting party to coerce or deceive another party into foregoing its contractual rights.
C) One party intentionally breaches the contract intending or knowing that such a breach will cause severe, unmitigable harm in the form of mental anguish, personal hardship, or substantial consequential damages.
1) Mosk believed Seaman’s was correctly decided b/c breaching party knew it had no good business reason to breach K and it knew that breach would cause other party to go out of business

G. Other Punitive Remedies: Generally, Supreme Court has three categories to classify civil penalties:
1. Really a criminal prosecution in disguise [get full constitutional criminal law protections: 5th Am. privilege, proof beyond a reasonable doubt, etc.]
2. Not a criminal prosecution, but civil punishment [get constitutional principles against punishment: Excessive Fines clause, double jeopardy, etc.]
3. Neither criminal prosecution nor a punishment; solely remedial [no extra protections]
VII. Right to Jury Trial in Civil Cases

A. Seventh Amendment to US Constitution: “in Suits at common law, where the value in controversy shall exceed twenty dollars, the right to trial by jury shall be preserved.”
1. Note “preserved” instead of “not abridged”
2. Applies only in federal court; not incorporated into 14th Am against states
3. Two questions:
a. Under federal constitution, when does the right to jury trial apply
b. What kinds of procedures could be seen as violating right to jury trial by taking fact finding out of hands of jury and putting it in hands of judge.
B. How 7th Amendment is applied – Two kinds of cases: (1) common law causes of action; and (2) statutory causes of action or under federal statute written after 1790
1. To common law cause of actions, it is straightforward (e.g., jury trial for breach of contract seeking damages; no jury trial for breach of contract action seeking specific performance).  That’s how te common law (when there was law-equity split) handled these kinds of cases.
2. To statutory cause of actions, the issue is more complicated.
a. Terry: P’s were truck drivers who got laid off; sued employer under national labor relations act for breach of collective bargaining agreement; also sued union for failure to adequately represent them; employer went bankrupt so only remedy was backpay claim against union
i. Issue: whether claim gets tried to a jury or judge
ii. Two part test for whether cause of action triggers right to jury trial:
A) Common law analogue from 1791; compare to 18th century statutory actions brought in England
1) How was this kind of claim treated before 1791
2) Holding: This is like a breach of trust which was an equitable claim; right to backpay looks like damages!
3) Reason why Court looks back in history is b/c of word “preserved” in 7th Am
A) Is remedy sought “legal or equitable in nature?”
1) This part is more important than part 1
2) Holding: remedy sought is damages ( right to jury trial
b. Generally, claim for damages for restitutionary remedies on legal side (like quasi contract), you can get jury trial; claim for injunction or restitutionary remedies on equitable side (constructive trust, equitable lien), you do not get jury trial
C. California right to jury trial in civil cases:
1. California Constitution applies right as it existed when California joined the union: 1850 (so we can’t even use federal cases as precedent)
2. Hung v. Wang: Underlying dispute involves dissolution of corporation; P is minority shareholder, goes to Hong Kong, other shareholders wanted to kick him out so they hired lawyers.  Minority shareholder sues his former partners and attorney, seeking damages on claim for civil conspiracy.
a. Is there any question that right to jury trial applies to underlying case of civil conspiracy?
i. No, P has right to jury trial b/c he’s seeking damages 
b. Issue: Statute requires that if you sue an attorney alleging a civil conspiracy b/w attorney and a client, before that suit goes to jury, judge must hold proceeding and find a reasonable probability that you prevail in the action.  Does P have a right to jury trial at that pre-trial proceeding?
i. Judge as gatekeeper, cannot let it go to jury unless he determines this
ii. Similar to statute that says if you want to allege punitive damages in suit against healthcare provider, you must get “permission” from court
iii. Policy behind statute: Lawyers and doctors need protection from frivolous claims
c. How can a pretrial procedure implicate the right to a jury trial?
i. Judge engaged in fact finding is usurping the power of the jury to decide facts
d. Issue: Does California provision requiring P to demonstrate “reasonable probability” of success in civil conspiracy claim against person and his attorney violate right to a jury trial?
i. “Reasonable probability” may require weighing evidence on both sides; if that’s what statute means, then it is unconstitutional; weighing competing factual evidence is jury’s function
ii. Alternative reading: Judge is only being asked to decide whether P has made a prima facie case and pleaded claim sufficiently; different from demurrer but analogous to deciding motion for summary judgment
A) On demurrer, question is has P pleaded facts sufficiently regardless of evidence
B) On summary judgment, you look at P’s evidence and ask, if trier of fact believes these facts, would P win?  This does not require weighing of competing evidence
iii. Avoidance cannon of interpretation: interpret statute to mean there’s no weighing of evidence; interpret in a way that avoids constitutional problem
VIII. ANCILLARY REMEDIES
A. Ancillary remedies are helping remedies: all the things that courts do to effectuate other remedies given by the court.  These include:
1. Contempt (helps effectuate injunctions)
2. Collecting money judgments (including rare coercive collection of money)
3. Preserving assets before judgment (receivership/attachment)
4. Litigation expenses/attorneys fees
B. Three Kinds of Contempt:
1. Criminal contempt:
a. Punishment (fine and/or jail time) for willful violation of court order.  

b. This is brought by gov (prosecutor), not the Plaintiff

c. Standard of proof: willful violation beyond a reasonable doubt

d. No criminal contempt if person is unable to comply

e. Criminal procedures and constitutional requirements apply: right to jury trial

2. Civil coercive contempt (purpose is to coerce compliance)
a. Conditional penalty (fine or jail time) used to coerce compliance with court order.  Brought by P.  D holds keys to the jail cell in his pockets
b. This can be jail without protections of criminal contempt (up to 18 months in federal court; unlimited jail in state)
c. Judge is not required to actually follow through on amount threatened; can go lower
d. Three steps: (1) Injunction issues; (2) penalties threatened; (3) penalties imposed
3. Civil compensatory contempt (in some jurisdictions)
a. An action for damages/restitution for injuries P suffers from D’s failure to comply w/ injunction.
b. NOT available in some jurisdictions (including CA)
C. Classifying Type of Contempt – Triggering Procedural Protections:
1. International Union, United Mine Workers v. Bagwell: Companies and labor union in dispute, companies sued to prevent unlawful strike; trial court issues injunction that bars union during pendency of strike from lighting tires, harassing non-union workers, blocking entrances, etc.  Contempt hearing found 72 violations of injunction, fined union $642K for 72 past violations of injunction (criminal contempt).  This first set of fines is not an issue in this case.  Court also announced that it would fine union $100K for any future violent breach and $20K for any future non-violent breach of injunction.  In seven subsequent contempt hearings, judge finds over 400 violations and levied $64 million in fines, $12 million of which was ordered payable to P’s (looks like civil compensatory contempt).  Lawsuit settles, P forgives $12 million in contempt fines.  Commonwealth of Virginia wanted to collect rest of the fines, $52 million.
a. Issue: Whether court followed correct procedures in imposing $52 million in fines.
i. Specifically, whether this fine was for civil coercive contempt or criminal contempt
ii. Holding: This is punitive, not civil coercive, so criminal procedure protections apply (right to jury trial, clear and convincing standard of proof)
A) It d/n matter what court calls it or how it’s structured
B) Balancing necessity of contempt power with potential for arbitrariness of judge
C) Factors: How big is the fine?; was conduct outside presence of the court?
1) When someone acts in defiance of the judge in court, judge has power to protect integrity of court
D) Justice Ginsburg: If fine is going to the state, it’s criminal contempt
b. In Kuykendall (10th Circuit), court held factors in Bagwell are not dispositive
2. Anyanwu v. Anyanwu: Civil coercive contempt in custody dispute; court jails father for contempt until he produces the children; ordered to make good faith effort to produce children.  His claim is that the kids are in Nigeria and he has no way of getting them back; judge d/n believe him; he has been in jail for almost four years.
a. There is only one of two reasons for his non-compliance: (1) he does not want; (2) he is unable
b. Judge has to determine credibility of father b/c judge cannot keep him in jail if he’s unable to comply; if perpetual coercion is not going to force compliance, court has to release him
i. Judge held that the hearing was inadequate b/c there was no competent proof on whether the jailing was punitive
ii. Appellate court held that D can remain in jail but there’s a better way to do this; appoint third party to represent interests of child, that person can negotiate w/ grandparents and Nigeria
A) Line is b/w whether coercion still has potential to work or has lost this potential
B) If person is released after civil coercive contempt, person can then be prosecuted for criminal contempt – no double jeopardy.
3. Anticipatory Contempt: Griffin v. County School Board – Prince Edward County responded to Brown v. Bd. Of Edu by closing public schools for 9 years, but gave tuition grants to parents to send their kids or private schools for white children.  Lawsuit against school district to stop distribution of tuition grants.  Trial court issued order that says district may not order any more grant payments for 1963-64, but court refused to enjoin payment of grants for 1964-65 school year; plaintiffs appealed to 4th Circuit.  While appeal is pending, Chief Judge of 4th Circuit has clerk call school board and ask them not to pay any money until case is decided (b/c court was out of session); school board said no and immediately paid all the money so by time case was heard all payments have been made for that school year.  4th Circuit wants to hold school board in contempt; criminal contempt to punish them for disobedience (past behavior)
a. Federal statute limits when a court can hold someone in criminal contempt:
i. 18 USC 401(3): Court has power to punish by fine or imprisonment: “disobedience or resistance to its lawful writ, process, order, rule, decree or command.”
ii. Issue: Did school order disobey lawful writ, process, order, rule, decree or command?  Should the court have the power to punish for an order that has not yet issued?
iii. Result: School board was held in anticipatory contempt; bad conduct and likely reversal
iv. Dissent: There was no order; statute limits court’s power; chief judge did not order school board to not pay tuition grants; also filing appeal does not mean an automatic stay.
D. Two More Questions on Criminal Contempt:
1. Under what circumstances may an injunction be disobeyed and the injunction’s underlying validity attacked as a defense to a contempt proceeding for violating the injunction?
a. Walker v. City of Birmingham: Group of black Reverends (including MLK) wanted to lead a march during Good Friday and Easter Sunday in 1963 in city of Birmingham.  Ordinance prohibited march without a permit.  They spoke with commissioner they believed was in charge of issuing permits; he said they will never get a permit in this city.  If they were criminally prosecuted for violating ordinance, they can raise unconstitutionality of ordinance as a defense (c/n be convicted of violating a statute if statute itself is unconstitutional).  City went to state court and applied for injunction to enjoin petitioners from marching on Good Friday (which was 2 days away at this point); court granted injunction; City did not give notice to petitioners that they were seeking this injunction – ex parte application.
i. TRO took ordinance and made it into injunction, giveing P additional leverage of threat of criminal contempt
ii. Options marchers have at this point (after getting notice of TRO):
A) File motion in same court to dissolve TRO based on claim that underlying ordinance is unconstitutional, also based on lack of notice
B) Appeal to a higher court (emergency appeal)
C) Go to federal court for declaratory judgment that law is unconstitutional
D) Not march – obey TRO
E) March anyway in defiance of TRO
iii. Collateral Bar Rule (applies only in criminal contempt): You may not disobey a court order and then defend yourself in the later criminal contempt proceeding on grounds that the order or underlying law was unconstitutional or invalid; you must obey even an invalid court order or injunction.
A) Holding: Cannot collaterally attack the validity of injunction or TRO in a criminal contempt proceeding; instead you can only directly attack the validity of the injunction
1) If it’s an invalid ordinance, you can violate it and defend on that ground
2) But if it’s an invalid court order, you still have to obey;
B) Policy rationale: so people do not become judges of their own actions; rule is meant to protect power of the court and preserve respect for judicial process
1) Everyone has obligation to obey the courts; court’s power is not implicated when person violates an ordinance instead of a court order
2) “respect for judicial process is a small price to pay for the civilizing hand of law, which alone can give abiding meaning to constitutional freedom”
iv. Exceptions to the Collateral Bar Rule:
A) Court order is appealed but met with frustration and delay
1) E.g., if petitioners appealed but AL Supreme Court does not rule before Good Friday (US Supreme Court would not be able to hear emergency appeal until state Supreme Court issues final judgment on the appeal)
B) Transparent Invalidity: Rule might not apply if injunction was transparently invalid or had only a pretense of validity
1) Has to be a pretty bad and clear violation of 1st Amendment; majority doesn’t think violation here is bad enough
C) Where the court lacks jurisdiction to issue its order:
1) Order does not have to be followed if court lacks jurisdiction
2) But order must be followed while the court examines whether it has jurisdiction b/c the court has jurisdiction to determine its own jurisdiction
3) Dissent: Why is jurisdiction more important than the First Amendment?
4) There could have been argument here that there was no personal jurisdiction: Princess Anne– c/n issue TRO without notice unless you have a really good reason for not giving notice
b. Shipp: Court ordered 10 day stay of execution of Johnson; on 9th day, sheriff allowed mob to lynch Johnson; sheriff (Shipp) was prosecuted for criminal contempt of court order
i. Holding: Even if court lacked jurisdiction to stay execution, only the court has power to determine the jurisdiction question.
2. Under what circumstances may persons who are not parties to the injunction be held in contempt for violating it?
a. Summary on orders to / burdens on third parties:
i. Direct Orders to non-parties and to D’s who are not wrongdoers cannot be more than “minor and ancillary” orders (General Service Contractors)
ii. Burdens on third parties: can burden greatly or severely, short of restructuring
b. New question: Once court has issued an order, under what circumstances can a non-party be held in contempt for violating that court order?
i. Assuming court order is minor and ancillary, can a direct order go against a third party without notice and a hearing before the order issued?
c. US v. Hall: District court entered desegregation order; violence developed, so injunction was issued to prohibit anyone from entering school with certain exceptions; Hall was not a party to the lawsuit, intentionally violates the injunction and is charged with criminal contempt.  Hall was member of militant group called “Black Front”; his name (and others) was given by school district to court as persons who present threat of violence at this school.  Hall goes on to the school and tells officer he’s here to violate the injunction
i. Hall made 2 arguments: (1) he was not a party to the original litigation; (2) not subject to injunction under FRCP 65(d)(2)
A) FRCP 65(d)(2) Current version (earlier version at time of Hall): The order binds only the following who receive actual notice of it by personal service or otherwise: (A) the parties; (B) the parties’ officers, agents, servants, employees, and attorneys; and (C) other persons who are in active concert or participation with anyone described in (A) or (B).
ii. Holding: Court had jurisdiction to issue injunction that binds Hall though he’s a non-party
A) Hall threatened both P’s and D’s duties in the original litigation
B) When Rule 65 was drafted, it was not intended to take away existing inherent powers of the court, specifically two inherent powers that give it power to issue minor and ancillary order to third parties:
1) In rem Jurisdiction: When court takes control over controversy that affects particular place, court has jurisdiction to bind the whole world in respect to that place
2) Inherent power to effectuate the court’s judgment; can bind non-party (with minor and ancillary order) if that’s necessary to effectuate the court’s judgment
a) Court has adjudicated desegregation case and is worried about violence at this school; to effectuate this judgment, it is necessary to bind individuals who threaten this judgment
iii. Notice Issue: But Hall did not have notice of the hearing, only notice of the order
A) General Rule: Before issuing an injunction court must give notice of the hearing; then, once injunction is issued, persons without notice of order cannot be held in criminal contempt (no willful violation without notice)
1) Notice can be formal or informal notice
B) Holding: Court characterized the order as a TRO that Hall violated within the 10 days, reasoned that you don’t necessarily need to give notice of hearing on TRO (this is NOT good law, this part of court’s decision is not followed)
1) In Princess Anne, Court held that as a due process matter you either have to give notice of hearing or have a good reason for not giving notice: either that (1) you tried but could not find person, or (2) by giving notice the person will do the very thing you’re trying to enjoin before the order can be issued
2) The collateral bar rule does not apply to third or non-parties who did not get notice of the hearing, only notice of the order
3) Nobody can be held in criminal contempt of court order if they did not have notice of the order b/c without notice, violation would not be “willful”
E. Collecting Money Judgments:

1. Execution:
a. Credit Bureau v. Moninger (Nebraska): Credit Bureau obtained default judgment against Moninger on Oct 20, 1977.  On May 16, 1978, Moninger pledges pickup truck as security for Bank loan but without any written or filed security agreement.  On June 27, 1978, Credit Bureau obtains writ of execution.  On July 7, 1978, Sheriff searches title of pickup (finding no recorded liens or encumbrances), and serves writ of execution on Moninger, but does not physically take possession of truck.  On July 10, 1978, Bank and Moninger execute and record security interest agreement.  On July 13, 1978, Sheriff seizes pickup and sells it.

i. Issue: Who gets priority to the truck?  When did Bank perfect its security interest?
A) Cannot take personal or real property that someone else has a security interest in; if property is seized and sold, the first party to be paid off is the bank that has a security interest in the property.

B) Bank argued that on July 10, there had been no valid execution yet
ii. Nebraska Rule: “A manual interference with chattels is not essential to a valid levy thereon.  It is sufficient if property is present and subject for the time to control of the officer holding the writ, and that he in express terms asserts his dominion over it by virtue of such writ”
A) Holding: Sheriff serving writ of execution on July 7 and his declaration at time of service was sufficient to establish Credit Bureau’s interest in pickup, even though Sheriff did not take physical possession of car till July 13.

b. Levying and taking possession:
i. Nebraska rule is the minority rule.
ii. In most states, if debtor sold his car to a bona fide purchaser after sheriff levied writ of execution on it, BFB can keep the car.

iii. In most states, if executing on an automobile, sheriff must tow away car or disable owner’s ability to use/move it (put a boot on it).

iv. Post-judgment discovery allowed in some states
v. In CA, levying on a business’s personal (not real) property: CCP 697.510 – As soon as P gets a judgment, P can file judgment lien in the same way that secured creditors file other liens in the state; lien lasts for five years.
2. Garnishment:

a. What is Garnishment and how does it differ from Execution on property?
i. Creditor can get order to get money or wages from employer or bank of the debtor
ii. Part of the wages are exempt in every state
iii. Going right to the source, to someone who owes the judgment debtor money
iv. Who is garnishor? Garnishee?
A) Judgment creditor who asks for order is the garnishor
B) Third party that owes the judgment debtor money is the garnishee
b. Dixie National Bank v. Chase: Chase (garnishor) got a judgment against Gore (judgment debtor); Dixie is Gore’s bank (garnishee), received writ of garnishment from Chase; order says if Gore deposits any money in bank, bank is obligated to turn the money over to Chase.  After court issues writ, bank has to file an answer stating how much money Gore has in the bank; Bank filed answer with incomplete information, disclosed only one account that had a small amount in it, but did not disclose that Gore has another account that has $13K under a fictitious business name.  When Bank realized they messed up, they amended their answer and disclosed the $13K; in the meantime, Gore had already withdrawn all the money.
i. Result: Garnishee is liable for $13K to garnishor
A) Answer has to be accurate; garnishee strictly liable even if this was a reasonable mistake or accounting error
3. Coercive collection of money judgments: In Re Marriage of Logston – Ex-husband held in contempt for refusing to pay support or alimony payments to ex-wife; claimed that his income was exempt under statute; judge put him in jail for contempt for up to 6 months, would not be jailed if he paid within 30 days of order; he also claimed he is unable to pay because of his obligations
a. This case is an exception to the rule that we don’t throw people in jail for not paying
i. Civil coercive contempt: threat of penalty if he doesn’t come up with the money in 30 days
A) Order was not clear; has to change to let him get out of jail when he pays
b. Statutory defense: Ex-husband claimed that all his income is from exempt sources
i. Court rejects this defense on two grounds:

A) Word “judgment” in the exemption statute does not cover order for alimony payments
B) Not an attempt to execute on exempt assets; she’s instead trying to get money that has already been paid to him
c. Inability to pay defense: Can’t use coercive contempt power if D cannot comply b/c it would cease being coercive and would become punitive
i. Court will have to make a value judgment and some evidentiary determinations: how much money does person need to live; what standard of living is minimum

A) Administrative problem: Court only does this in family cases

ii. Court rejects this defense:

A) Husband spent $160 on entertainment, hobbies etc.
B) Spent money on improvements on his wife’s kitchen, recreational vehicle, etc.
C) He also spent $11K on a trip to California (this actually shows present inability to pay)
F. Preserving Assets Before Trial:

1. Freeze Orders: A freeze order is a kind of preliminary injunction that prevents D from transferring specific assets pending judgment.
a. Need to balance interests given risk of error (as in cases of preliminary injunctions) and give notice of hearing.

2. Attachment: Attachment is a levy or garnishment before judgment; more extreme than freeze order, which simply prevents D from dissipating assets.
a. City of NY v. Citisource: Ds fraudulently procured K with city; were both criminally prosecuted.  City was afraid that Ds were attempting to hide their assets in connection with a civil RICO case against them, so City sought Attachment of Ds bank accounts.  D1 tried to transfer money from bank account (he called bank and inquired about transfer); D2 tried to transfer treasury bill that’s in a trust’s name to his name (he was trustee).
i. To get attachment, moving party must prove that:

A) D must have an intent to either (1) defraud his creditors or (2) frustrate the enforcement of a judgment that might be rendered in P’s favor”; AND

B) D has “assigned, disposed of, encumbered, or secreted property or removed it from the state or is about to do these acts” (either D has or is about to hide his assets to take them out of the reach of P)
ii. City argued that timing of D’s conduct (making inquiries to bank) is suspicious

A) Result: Court froze accounts for one month until more discovery is made
b. Differences between preliminary injunctions and attachments:

i. Any sort of preliminary order presents serious risk of abuse by P and hardship to D. 

ii. As compared to preliminary injunctions, attachment procedure has traditionally relied less on a preliminary hearing to avoid abuse and more on liability after the fact (through the bond) to deter abuse.
A) Less likely that an attachment bond will be waived than an injunction bond.
B) Also, less likely that state law will limit P’s liability to amount of the bond.
1) Generally, P’s liability could exceed amount of the attachment bond
C) Some states have strict liability if attachment was erroneously granted.

3. Receivership: Receivership is a kind of preliminary injunction that allows a neutral third party to run an ongoing business, or take steps to wind it down, during a dispute involving the business
a. W.E. Erickson Construction v. Congress-Kenilworth Corp: P was a contractor; got contract to build a water slide; made request for payment when it was 60% completed; D gave P a deed to the property as collateral; it turned out that D did not really own the property, but the army did; when this was discovered, army leased property to D’s.  Season opened; D’s paid some amount of money; still owed over $200K; D changed name to another corporation; that new corp was getting income and doing business; older business that P had contracted with was insolvent.  P wants a receivership; P is worried there will not be any money in the business for him to get paid

i. Receiver would take over property and business and run it and pay P as the money comes in
A) P wants receiver instead of attachment b/c latter only works if there’ money in account

ii. What does the plaintiff have to show?

A) That he has a clear right to the property itself or has some lien upon it, or that property constitutes a special fund to which he has a right to resort for satisfaction of his claim
1) Here, P has clear property right against the water slide
2) Ordinary creditors cannot get receivership b/c they d/n have property interest

B) That possession of the property by D was obtained by fraud or that the property itself, or income arising from it, is in danger of loss from neglect, waste, misconduct or insolvency
1) Receivership is a rare and severe preliminary remedy
2) P did not meet this second requirement: P did not show any evidence of neglect, incompetence, fraud or reason why D cannot be trusted to run the business (typically, this requires evidence that D is stealing from the business or mismanaging)

G. Litigation Expenses:
1. Attorneys Fees and the Rightful Position Standard:
a. English Rule: Losing party pays the winning party’s attorneys fees
i. Critique: this rule discourages litigation because of higher risk of liability if you lose
b. American Rule: Each side bears its own attorneys fees
i. This affects rightful position standard; P d/n get put in the rightful position
ii. Exceptions:
A) Attorneys fees provisions can be included in contracts
1) One way attorney fee provisions become mutual as a matter of law in Cal.
B) Statutes sometimes provide for attorneys fees to the winner or to the winner if the winner is the plaintiff only (one-way fee shifting)
C) Attorneys fees are available, even in some tort actions, in common fund cases, including class actions
2. City of Riverside v. Rivera: Large group of police broke into a house party at the Riveras and they acted without a warrant and arrested many guests.  8 people who attended the party along with the Riveras sued City of Riverside and police department; suit for violation of constitutional rights based on way police broke up party.  Court gave summary judgment for some officers, then jury brought a verdict against remaining defendants for Plaintiffs.  Damages were $33K in compensatory and punitives ($12K for fed claims, $21K for state claims); trial court awarded $245K in attorney’s fees.
a. Why was the court even giving attorney’s fees, given the American rule?
i. § 1988 is an attorney’s fees provision for suits brought under § 1983.  
ii. § 1988 is a one-way fee shifting provision.  If P is the “prevailing party,” P is entitled to reasonable attorney’s fees.
b. 3 questions for § 1988:
i. Are the Plaintiffs a prevailing party?
A) If not, no attorney’s fees.  Each side bears its own fees.
B) Hard to say in this case. There were many claims and many Ds.  Ps did not win all their claims, and did not win as much money as they wanted.
1) Ps won most of their claims, and primary reason they lost other claims is b/c they could not identify individual officers involved
C) To decide if P is a “prevailing party,” court will look at P and the claims and how they did against D’s position.
1) What were Ps trying to accomplish? Did they accomplish main litigation objectives?
2) Here, court found that Ps got enough that Ps can be seen as prevailing within the meaning of the statute.
ii. Is the amount of attorney’s fees unreasonable in this case?

A) Here, there is no way Plaintiffs are going to pay $245K to get a $33K judgment, so attorneys are bearing the risk.
B) If lawyer works on contingency basis, there is a chance that they will never get paid.
C) This type of lawsuit will be brought as contingency or public interest group that does not care about fees.  Lawyer tactic is to get the case, litigate it viciously and then get attorney’s fees from government.
iii. How do you calculate the reasonable rate for attorney’s fees?
A) The lodestar approach: Start with lodestar, then you can take into account the 12 Johnson factors, which give court some discretion to deviate from the lodestar number.
1) Lodestar = reasonable number of hours X the reasonable rate.  

2) But there are 3 reasonableness fights:
a) Lawyer does not deserve that much per hour.
b) You do not deserve that many hours for this case.
c) Room under Johnson factors for adjustments in final number
3) Johnson factors:

a) Time and labor required

b) Novelty and difficulty of the questions or issues involved

c) Skill required to perform the legal service properly

d) Preclusion of employment by the attorney due to acceptance of the case

e) Customary fee

f) Whether fee is fixed or contingent

g) Time limitations imposed by client or circumstances

h) Amount involved and results obtained

i) Experience, reputation and ability of attorneys

j) “undesirability” of the case

k) Nature and length of professional relationship with the client

l) Awards in similar cases

B) Approach based on a contingency fee: Some courts will award what the contingency would have brought.
1) Some courts would multiply the “contingency” by a multiplier to account for risk.
2) But according to the Court, this is not what Congress intended in § 1988.
C) Holding: Court upheld trial court’s award of attorney’s fees where trial court used the lodestar approach based on number of hours spent, 
1) 1,946 hours at $125 per hour ($125 was a high rate in 1986)
a) This discourages city from violating rights (sending message)
b) Nominal damages in state court can serve as a hook for both punitive damages and attorney’s fees.  Court said that under § 1983 if all you obtain is nominal damages, attorney’s fees should ordinarily be 0, though lower courts have found some ways around it.
c) $245K is equivalent to a year of a highly paid lawyer’s life for a recovery of $33K.  Conservatives (in dissent) say this is ridiculous, and contingent fee approach is better.  If there is a dispute over Blackacre, you do not spend twice what the property is worth in legal fees.
3. Principal-Agent problems (conflict in incentives, how do we ensure that their interests line up)
a. If you are paid by the hour, you have incentive to bill a lot of hours.  If you are paid by % of recovery, you are incentivized to cut corners b/c extra hour may not increase your recovery.
i. Plaintiffs lawyers diversify risk by taking on too many cases.  They only get paid when they win, so they take as many cases as they can.
ii. Under either system there is incentive for deviation b/w what principal wants (client wants great representation) and what agent wants (lawyer, pay student loans and buy nice car).
iii. Potential principal-agent problems:
A) Lodestar Approach:
1) Method of calculation: Reasonable hourly rate X number of hours as starting point (and 12 Johnson factors)
2) Potential problem: Run up hours or rate in excess of market
B) Contingency Fee Approach:

1) Method of calculation: Percentage of recovery

2) Potential problem: Spend less time on less lucrative cases

C) Reverse Auction Approach:

1) Method of calculation: Ex ante competition among firms for fees

2) Potential problem: Winners’ curse? Poor legal representation? What if winning law firm puts in too little of an effort because they realize they bid too low?
b. Common fund and class action exception to American Rule – In Re Synthroid Marketing Litigation: Class action resulting from manufacturer of drugs misrepresenting that his drug is better than generics by telling physicians there will be a costly calibration charge if they switch.  A study showed that generic drug was just as safe and effective.  Drug manufacturer was able to keep this study suppressed for 6 years.  Ps are consumer group and healthcare insurance companies that paid extra money for name-brand drug.  Trial court imposed 10% (of mega fund) cap on attorneys fees if total settlement is above $75 million; can get 20% in attorneys fees if it’s up to $75 million.

i. This creates principal-agent problem were perverse incentives; plaintiffs lawyers would have incentive to settle for less than $75 million.  Judge made the principal-agent problem worse
ii. Holding: For this case, Court said fee should be based on market rates; but for future cases, judges should use reverse auction approach in order to mitigate principal-agent problem
A) Deal with attorneys fees on the front end rather than after the case settles.  Setting the fee in advance mitigates principal-agent ethical conflicts

B) Plaintiffs law firms would bid on how much they would take for the case; judge would take the lowest responsible bid among the lawyers
c. Evans v. Jeff D.: Court held that a defendant can make waiver of attorneys' fees a condition of settlement, in effect forcing attorney to sacrifice himself for his client.
i. Defense attorneys have been able to get around this provision, though not clear exactly how

ii. The best we can probably hope for is for honest lawyers to sensitize themselves to the problem, bend over backwards in negotiations to protect the clients and resolve doubts about their fees on the low side, and use the courts to police dishonest lawyers—look for cases where lawyers do much better than the client.
4. Other litigation expenses: Costs typically awarded to prevailing party

IX. REMEDIAL DEFENSES
A. In pari delicto (“in equal fault”): Pinter v. Dahl – D is oil & gas producer; P paid him to go out and find wells; wells turned out to be worthless; P is seeking rescission of K to get his money (investment) back from D.  Claim is that investment had never been registered w/ SEC and this is the kind of investment that has to be registered w/ SEC (this is not in dispute here).
1. D said that’s not fair b/c P would not want rescission if value of securities actually went up; D argued that P was “in equal fault”
a. But court said this remedy is a way to deter people from not registering investments;
b. Two part test.  To successfully raise In pari delicto defense, D must prove:
i. P is at least equally at fault; and
ii. preclusion of suit would be in the public’s interest
2. Court remanded case for further determination of how much at fault P is
a. If all that D can show is that P knew that the securities were unregistered, case can go forward and defense does not work
b. Court is reluctant to apply this defense b/c it benefits a wrongdoing D
B. Unclean hands: Unlike in pari delicto, no balancing required (at least in theory) for unclean hands; only look at whether P’s conduct is bad enough (not whether P is equally at fault as D)
1. P’s conduct is so bad that he should not get recovery (2 robbers, 1 cheating the other)
2. Basis for unclean hands defense must be at least somewhat related to the transaction at issue in the litigation (otherwise bad people would not be able to get relief for anything)
3. In most jurisdictions, D can only raise in equity (if suit is only for damages, D c/n raise this defense)
C. Unconscionability: Applies only in K cases.  Like “unclean hands,” unconscionability defense traditionally limited to equity (like suit for specific performance of K).  Today, UCC and modern trend allow it in some damages cases as well.
1. Armendariz v. Foundation Health Psychcare Services: Employees sued employer for sexual harassment; signed arbitration agreement. D filed motion to compel arbitration.  Arbitrators are private judges that may have incentive to give lower awards.
a. Holding: Arbitration agreement was unconscionable
i. Procedural Unconscionability: One-sided adhesive K; employees had no bargaining power; take it or leave it as it is K; no active negotiation
ii. Substantive Unconscionability: One-sided and unfair limitation on remedies
A) One provision limited the remedy from full damages to only damages for past harm; no future lost wages
B) Clause provided that only claims by the employee must go to arbitration; employer can bring claims against employee in court
b. Choice of severance, striking down entire K, or rewriting in some instances (powerful remedy)
i. Court threw out the entire arbitration agreement; too many defects;
ii. Incentive of party drafting arbitration agreement: If court would only cut out unconscionable provisions, employer may put in all kinds of one-sided provisions
D. Estoppel:
1. Geddes v. Mill Creek Country Club: P was an agricultural landscaping business.  Ds were developers of golf course.  Golfers kept hitting balls into P’s property.  P picked up over 2,000 golf balls, about 1,000 golf balls per year, or 3 per day.  P brought suit for intentional trespass and nuisance.  D’s response is equitable estoppel.
a. The golf course is 10 years in the making, and developer worked closely with the neighbors (including P) and had their consent and input throughout the development.
b. During development, P got developer to change his plans.  Initial plan was that when P would look out the front door, he would see a bunch of back yards.  P did not want that.  So he asked developer to make changes and in return he would not oppose development in front of board.  P chose to have fairway instead.  P also asked and got D to put an 8 foot fence along the property.
i. D changed his plans at P’s request.  Golfers c/n see over the 8 foot fence.
ii. Cost to developer: Could not sell the now non-existing houses which had golf course views.
iii. Defense is that P knew what they were getting in to, P said it was okay, and now P changed their mind.  P should have told D this when D was building the golf course and D could have taken care of it then.  Now it’s too late and D c/n move the golf course.
c. Elements of Estoppel: Many different tests, but usually same three basic elements:
i. An act or statement by P inconsistent with the right later asserted;
A) K and the appearance before zoning board were inconsistent w/ later right asserted to exclude the golf balls.  P told board he preferred golf course fairway to be there.
ii.  Reasonable reliance by D on the statement; and
A) D moved the fairway and built the 8 foot fence as P requested
iii. Injury to D.
A) Any remedy like moving fairway or building a taller fence would cause injury to D.
d. P’s response: P made a mistake when he made statement that it was okay and this mistake should be forgiven; P did not recognize the extent of the golf ball problem (realized later that it was much worse than anticipated); P made statement without adequate facts.
i. Court said that is ridiculous. It is common knowledge that golf balls are sliced.
A) Fact that P required  fence shows that P knew that golf balls were flying onto his property
ii. Some estoppel cases are fraud cases (e.g., Dayton Hudson), but don’t need fraud for estoppel.
A) As long as conduct/statements are inconsistent, estoppel may be asserted.  So, even though some courts talk about the party knowing the true facts, that is not required.
2. Estoppel is not only a defense, but it can also preclude a defense.
a. Hypo: D injures P.  D tells P the statute of limitations is three years.  In fact, it is one year.  P sues D after two years.  D defends on grounds of the statute of limitations.
i. P will claim that D is estopped from using the defense of SoL. 
ii. It does not matter whether P actually believes SoL is 3 years.  Whether it was innocent or fraudulent, it is an act or statement inconsistent with the right later asserted.
A) But reliance may not be reasonable in this situation (unless D is an attorney or fiduciary)
3. Special Rule for Estoppel Against Gov:
a. The government usually cannot be estopped.  Do not rely on anything gov tells you. 
b. If gov could be estopped by statement of its employees, that could be problematic.
i. Rule precluding estoppel prevents government employees from colluding with people
ii. If the rule were different, gov might stop giving advice.  If you call with trouble filling out social security form, they will hang up on you.
4. Estoppel is a powerful doctrine that says your words and actions have consequences.
a. If you see your neighbors building on their property and they say you don’t mind if we put a second story on the property do you? And you say no. then you have no sunlight and sue.  Neighbors can assert estoppel b/c you altered your property rights by your statements or acts.
b. Estoppel by Omission:
i. Hypo: You walk outside every day and see your neighbors building this second story addition, you brood over it but do not say anything.  Later you sue.
A) Can try to argue that failure to act is like an act but it is hard argument to make.  But neighbor’s lawyer should argue that the act was walking by the construction site every day and implicitly acquiescing.
ii. Usually, not acting does not give rise to estoppel, but maybe laches
E. Waiver: The intentional relinquishment of a known right.  Unlike estoppel, for waiver you do not have to prove reliance.  Reliance is pretty much assumed.
1. US Fidelity & Guaranty Co v. Bimco Iron & Metal Corp: Policy holder had his building broken into.  There was some electrical equipment stolen and some minor damage to door.  P filed claim and the insurance company claimed that damage from theft is covered, but damage from vandalism (door) is not covered.  One provision of insurance K says that if policy holder wants to get money for claim, P must file written proof of loss within a certain amount of time (insurance companies do this for finality and certainty purposes; so they do not get charges much later).
a. Time to file written claim under policy passes.  Insurance company goes ahead and pays for door damage (though it claimed this was not covered), but refuses to pay for theft damages.  P sues for breach of K.  There is a dispute over whether the K covers this—is it theft or is it vandalism.
i. D raises defense that they did not breach K b/c K says they only have to pay if insured files paper by a certain date, which P did not do.
ii. P argues waiver: that b/c insurance company paid for door damage without requiring proof of loss, they waived that requirement.
b. Holding: By paying portion of claim, D waived timely filing requirement, and P could get all.
i. D intentionally gave up or relinquished its right to not pay (a right that D knew they had under K b/c P d/n submit proof of loss on time).
F. Laches: NAACP v. NAACP Legal Defense & Educational Fund – In 1939 NAACP created legal defense and education fund (LDF) to assist in its litigation fund.  It was a separate entity set up so that donations to it could be tax deductable.  In 1957 LDF served as subsidiary to NAACP.  Then there was a challenge to the LDF tax exempt status, claiming that the entities were too close for LDF to have tax exempt status.  There was disagreement in policy and strategy, and NAACP sues LDF.  Lawsuit is over rights of LDF to use NAACP (trademark) in its name (NAACP Legal & Education Defense Fund).
1. NAACP worried about donations.  Some people might think they are giving to NAACP, but they are actually giving to LDF.  There was evidence in record of checks being sent to wrong entity.  Another concern is dilution: some donors may only give to one and not both.
2. NAACP asked LD to stop using their name in 1966.  Nothing happens until 1978.  Then NAACP files suit.  So, they waited 13 years to file suit.
a. Not barred by SOL—it is a continuing violation.
b. But there has still been this long delay, so LDF defends on basis of laches
3. Laches is an affirmative defense that applies only in equity; it is the job of D to bring it up and prove it.  Laches ends the suit completely.  It is a total bar to suit.
a. Laches applies only when P is seeking an equitable remedy (NAACP seeking injunction)
i. If NAACP sought only damages, LDF could NOT raise laches as a defense
A) LDF could raise estoppel: By not bringing suit for 13 years, P’s statements and acts during those years were contrary to right later asserted, and LDF relied to their detriment.
b. Elements of Laches:
i. An Unreasonable Delay by Plaintiff before filing suit;

A) How long is too long is exercise of judgment and depends on circumstances in each case.  If delay here had been 2 or 3 years, unlikely court would have found delay unreasonable.
1) This is a judge decision, not jury.
2) If parties were negotiating during that time, it may negate unreasonableness of the delay, but not for a 13 year negotiation.
3) 13 years is too long, but sometimes 13 days is too long.
a) If you know about a problem before election but don’t sue until after election, you might be barred by laches even though statute of limitations had not begun to run
B) If P waited b/c they did not know they had legal right: Courts have held that ignorance of the law does not prevent laches from applying.
1) P must know they are being injured (P must know that LDF is using their name), but P do not have to know they have the right to sue.  This would be different if NAACP-LDF was secretly sending out postcards with NAACP name on it.
ii. Prejudice to Defendant
A) Court says one place is good will.  D spent a lot of time promoting their name.  Every time they win a case and it’s reported in news, D are referred to as NAACP-LDF.
1) In fact, NAACP-LDF was so successful that it spawned a bunch of imitators calling themselves [org]-LDF.
B) Reliance is NOT the only form of prejudice to D (e.g., lost evidence over time)
1) If D was worried about this lawsuit in 1966, they could have filed for declaratory judgment that the name does not infringe on trademark.
2) But they may have lost this, so it could have been to their advantage to wait and see if P is going to assert their trademark rights in a reasonable time.
3) D used the 13 years to build up their good will and create prejudice.
G. Statute of Limitations: Sets a definite time period within which to file a complaint.
1. Relationship of Laches to the Statute of Limitations:
a. Laches originally applied to suits in equity as the only time limitation; statutes of limitation did not apply in courts of equity.
b. Today, statutes of limitation apply against both law and equity claims (e.g., same statute of limitation for breach of K action seeking damages and one seeking specific performance)
c. One exception: only laches applies to causes of action for which the only kind of relief available is in equity—most notably, for breach of trust (no SoL, only laches is possible)
2. Three issues regarding statute of limitations:
a. Accrual – when does the clock start to run?
i. Different approaches: (1) Date of wrongful act; (2) Date of injury; or (3) Date of actual or constructive discovery of injury.
ii. When a statute runs on date of “injury,” and injury equals “appreciable harm,” a statute can run out before P even knows he or she is injured (unless some tolling rule applies).
iii. Policy rationales: Defendants are entitled to some finality; evidence and memories fade over time; Plaintiffs should not sit on their rights
b. Continuing Violations – how do we treat claims based on injuries that continue to get inflicted over time?
i. Klehr v. A.O. Smith Corp: P purchased grain silo from a company.  It kept more oxygen than advertised, and resulted in poor grain and therefore less milk on P’s dairy farm.  P alleged that the problem with silo was that it did not keep air out and let mold grow (there was even a sign: “do not enter, not enough oxygen to sustain life”).  P bought silo in 1974.  In 1991 they discover that silo is faulty.  They sue in 1993 under Civil RICO.
A) Date of wrongful act: 1974
1) 4 year SoL; that would have meant 1978 is cut off; there is no tolling statute here
2) There are claims of fraudulent concealment.  The advertising material claimed the molasses colored grain was good.  But that is not the theory the court used.
3) RICO requires showing pattern of violations: at least 2 acts the last of which occurred within the last 4 years
B) We need to distinguish 2 wrongs
1) The harm happens only once.  The injury may occur [medical costs may continue to be incurred] in the future, but the harm only happens once.
2) There is a new violation all the time (e.g., NAACP).  If there are continuing violations, it is possible to get some of the harm covered.
C) Issue: The court needs to decide which of these harms we have here.
D) Holding: This is a continuing harm not a single wrong/harm, but all harms suffered P in last 4 years are result of the same old violations that occurred before the 4 year period.
1) Pattern of activities: Continued misrepresentations about ability of silo to keep air out; D is also continuing to mislead purchasers of same silo.
a) If this were just a tort of fraud or misrepresentation, or breach of K, the suit would be barred.  But claim under RICO makes this into a continuing violation.
2) Since this is a continuing violation, P can recover, but only for new violations that occur during the statutory period.
a) If harm begins in 1978 and suit is filed in 1993, and we assume it is a continuing violation, you start at time suit is filed and work backwards to time of SOL.  You get to recover damages that accrued in that time period, not old damages.
b) P can only recover for harm they suffer b/c of wrongs that occur in that period.  P cannot recover for harms they suffer in 1993 that are the result of a wrong that occurred in 1978.  Wrong must occur in the 4 year window.
c) So even though SoL did not bar the claim, P will not recover everything
E) Result: No recovery for any damages b/c entire suit is barred by SoL.  Though the harm is continuing, there are no new violations.
1) For continuing violations, violation must continue, harm must continue, and the harm must occur because of the new violations.
ii. Ledbetter: Decided by US Supreme Ct in last term.  It is so controversial that congress might try to overrule, though Bush might veto the overruling.  Woman was paid less than a man starting in 1978.  In 1985, company stops discriminating based on sex, but does not give back pay or raises.  There was no new violation occurring within the SoL, and therefore no harm caused by discrimination that could be compensated for.
A) Dissent argued there was discrimination b/c within the SoL period women were still being paid less than men b/c company did not go back and raise their wages.
B) This holding basically says you can grandfather in your discrimination.  Once you get past the SoL of discrimination period, you are home free.
c. Tolling – under what circumstances will courts delay the running of the statute of limitations (think of it as a paused stop watch)
i. Tolling for Minors:
A) In CA, for most claims that a minor can bring, SoL is tolled until age of majority.
B) For example, there is a breach of K and minor wants to sue for breach.  In a lot of jurisdictions, even though the person was injured and knows of the injury at age 12, SoL is tolled until age 18.  Once person reaches 18, 4 year SoL starts running.  So, instead of 4 years, minor had 10 years on SoL.  This is a generous rule for minors.
C) Just because SoL is tolled does not mean that laches could not apply.  So, if P wants to seek specific performance, maybe waiting 10 years is too long.
ii. Discovery Rule (only available in some jurisdictions, and even in those jurisdictions it is only available for some types of claims):
A) O’Brien v. Eli Lilly & Co: Young girl (born in 1956) became sick with cancer at 14, in 1971.  Parents tell doctor not to tell her (that is actually fraudulent concealment, but suit is not against parents).  Mother took drug DES while pregnant with P in 1956.  Daughters of women who took DES had a higher chance of getting some type of cancer.
1) Wrongful act happens before P was even born.  Injury occurred in 1971 at the latest, but it could have occurred before that.  She discovered injury in 1976; when she was 19, she read article in Newsweek and realizes that she has cancer.
a) Clock on SoL starts running in 1971 but is immediately tolled b/c she was minor.
i) Normal SoL was 2 years from when she turned 18. 
2) Issue: When did she discover or reasonably should have discovered her injury and or the cause of the injury?
3) Discovery Rule: Statute in Penn established 3 year SoL, but courts read discovery rule into the statute.  Under discovery rule, SoL is tolled until you know or reasonably should have known the injury, the cause of the injury and the relationship between the two (that the injury was caused by this wrongful act)
i) If she only knew injury and not cause, SoL remains tolled until she either discovers or reasonably should have discovered cause of her injury
ii) Distinguish b/w discovering injury and discovering the cause of the injury: Most of the dispute in this case concerns cause of the injury.  When does she know about the cause of the injury?  Not asking when she discovered the precise cause, but when did she realize she suffered an injury?
iii) This has nothing to do with whether she discovered or reasonably should have discovered the right to sue.
4) Analysis: This case turns on question of when P discovered or reasonably could have discovered not only the injury, but also the cause of the injury.
a) She did not know cause until 1976 b/c parents just told her she was sick.  But she knew that she suffered some sort of injury in 1971 when she had surgery (hysterectomy to remove cancer).
b) In 1976 she reads article and asks mom if she took DES.  But mom says no.  So, there are two questions related to the injury (1) did she know she had cancer, and (2) did she know it was related to DES.
i) Then she asked doctor if it was DES.  Doctor says he thinks DES but is not sure.  This is why she lost the case.  In 1976, doctor told her that she has cancer and points to DES as a possible cause, but not sure.
ii) Then they call doctor mom used during pregnancy and they find out she took DES.  That was 1979.  If P could not have reasonably known about the cause earlier than 1979, suit would have been timely if within 3 years of 1979.
iii) Result: Majority concluded that even though P did not have actual knowledge of cause in 1976, she was reasonably on notice of DES as cause in 1976 when she read article, her doctor pointed to DES as a possible cause, and she found out her mother has medical problem indicative of DES.
iii. Fraudulent concealment: Where someone tries to actively cover up injury or cause of injury
A) Not necessary for jurisdiction/cause of action recognizing a discovery rule; so this issue is only important in jurisdictions that do not have the discovery rule
B) Fraudulent concealment is a tolling doctrine that tolls SoL for period of concealment until P discovered or reasonably should have discovered injury and the cause of the injury.
C) Knaysi v. A.H. Robins Co.: P is using a birth control device produced by D.  P got pregnant then miscarried.  She thinks nothing of it at the time, but years later reads an article that says D’s product is causing these types of things.  She goes to doctor and finds out she was using this product.
1) Wrongful act: Marketing & selling device in 1972.  Injury: 1972 miscarriage.
a) This jdx does not have a discovery rule.  3-year SoL, which would run out in June, 1975.  P did not file by then.  She will lose unless there’s a tolling doctrine.
b) P claims fraudulent concealment: that D was aware for some time that this was occurring but they continued to argue that their product was safe.
2) To claim fraudulent concealment, P must prove that:
a) D had superior knowledge; and
b) D made affirmative misstatements of fact, or D is a fiduciary who is keeping info from P.

i) AH Robbins (D) is not a fiduciary under NY law.
ii) Affirmative misrepresentation means D must know product was not safe
3) Holding: Fraudulent concealment tolls SoL b/c D has superior knowledge and D advertises its product as safe.
i) That is a generous reading, b/c if D does anything that says heir product is good, that might be enough to toll until P should reasonably discover the cause of the injury.
ii) Dissent argued that advertising is not the kind of misstatement intended by the law, and there is no reliance shown—no indication P used Dalcon shield b/c of D’s advertising.
iii) Dissent says reliance is required, and majority does not disagree.  Majority basically presumes reliance.
X. Defenses in Suits Against Government

A. Sovereign immunity: Cannot sue gov for retrospective relief (aimed at past) without its consent.
1. Fed gov has sovereign immunity. State governments also have sovereign immunity except, under certain circumstances Congress can waive state immunity.  That has to do with 11th amendment.  We do not need to know details.
a. E.g., congress passed Americans With Disabilities Act, and someone wants to sue state b/c courthouses are not accessible, P would respond to sovereign immunity defense that congress waived state immunity in passing this statute.
b. Cities and counties do NOT have sovereign immunity.

i. But a county (serving) agency of state does have sovereign immunity, like LA County DMV.  
2. Federal Torts Claims Act: Discretionary functions of gov cannot be basis of suit
a. E.g., if postal carrier runs over your foot, that is not a discretionary function.
B. Suits against government officers in their personal capacity:
1. You collect your money not from gov, but from the agent personally
2. No immunity: Sometimes, there is no immunity.  E.g., the postal worker who runs over your foot; no immunity b/c no good behavior would be deterred by giving immunity.

3. Absolute immunity: Applies to certain categories of state officials when sued in personal capacity
a. President: Cannot sue President to get damages for anything he does in his personal capacity that is related to duties or official functions of the job (if he runs over your foot while on vacation, suit is allowed but will likely be postponed until Pres is out of office)
b. Judges: Stump – In 1971, a lady brought petition to get tubal ligation to sterilize her daughter.  Lady said it was in daughter’s best interest b/c daughter was sleeping around.  Mother also agreed to indemnify doctor who would do it.  Judge did not give notice to child, did not appoint guardian ad litem to protect daughter’s interest, did not assign docket number, and approved petition to allow operation to go forward.  Child does not agree to operation.  She thinks she is having her appendix removed; mother and doctor lied to her; she discovered later after she got married that she had been sterilized.  She sues the judge, who claims absolute immunity.

i. Holding: US Supreme Court held that the judge has absolute immunity b/c he was acting in his official capacity, conduct related to his job duties, judge had general jurisdiction.

A) P tried to sue mother and doctor for constitutional violation, but suit was dismissed b/c they were not state actors.

B) So long as there is not a clear absence of jurisdiction, immunity applies for decisions on the bench (decided to grant legally filed petition).

1) However, though there was subject matter jurisdiction, there does not seem to be personal jurisdiction over child b/c she d/n get notice.  But Court ignores this.

ii. Powell’s dissent: If order was appealable, immunity applies.  But here, there was no docket number and no order that could be appealed.  It was just a signed piece of paper.  Thus, Powell argues this should not be considered an official act.

c. Prosecutors:

i. Absolute immunity when acting as prosecutor (who to indict, how to try case)

A) E.g., prosecutor has absolute immunity in suit for damages based on prosecutor presenting evidence he knows is perjured testimony.

ii. Qualified immunity when acting as investigator or administrator.

A) E.g., if prosecutor cooks up some fraudulent evidence—sits down with potential witness and says why don’t you lie and say this, then only qualified immunity might apply.  Prosecutor would be liable b/c this violates clearly established law.

d. Members of congress: Speech or debate clause of the constitution.

i. Immunity for actions related toofficial acts

ii. Gravel (Alaska senator) was sued for revealing Pentagon Papers.  When Gravel gets on floor of Senate and reads from Pentagon Papers, he is absolutely immune from civil or criminal.  But then he sent papers to publisher to be published and sold—no immunity for that.

iii. Speech or debate clause does not protect from bribery.

4. Qualified immunity: Only applies when suing gov official in his personal capacity for damages
a. Harlow: D was a management analyst for air force.  He is a whistleblower.  What he testified to was embarrassing to DOJ.  There was a staff memo listing three ways to fire him.  He was fired by the next administration.  He brought suit against gov.  There was some suspicion about how he was fired, but no smoking gun.  8 years later Nixon tapes come out and he sued again.  Official reason he was fired was downsizing, but he thinks it was retaliatory.  P claimed conspiracy and that the way or reason he was fired violated his constitutional rights.  P sought damages from the officials in their personal capacity.  Officials claimed they are entitled to qualified immunity.
i. There is no dispute that officials here are entitled to qualified immunity b/c they were engaged in a discretionary activity.
ii. Issue: When do officers sued in their personal capacity get qualified immunity?

A) Old standard: 2 part test with subjective and objective element – when either conduct was objectively reasonable or subjectively not in bad faith. 
iii. Holding: Court adopted new standard – gov officials performing discretionary functions generally are shielded from personal liability for civil damages if their conduct does not violate clearly established statutory or constitutional rights of which a reasonable person would have known
A) Court eliminates subjective element in standard b/c subjective standard results in more cases that have to go to the jury.  Objective standard makes motive irrelevant.
B) Issue on remand will be whether officials had an objectively justifiable reason for terminating P.
b. Qualified immunity where there is a dispute about the law:
i. Hypo: Prison guards attached prisoner to a post out in sun and left him there 15 hours.  There is no dispute about facts.  The only question is whether that violated clearly established constitutional or statutory rights.

A) First, was this was a constitutional or statutory violation

B) Second, was it clearly established that this was a violation

1) P bears burden of proving that D violated clearly established law

ii. Three ways to know if there is clearly established law:
A) Controlling authority in the jurisdiction.

B) A consensus of cases of persuasive authority

C) Unconstitutionality that is too obvious to have been litigated.

5. absolute immunity
XI. Fluid Class Remedies: Eisen v. Carlisle & Jacquelin – Anti-trust suit against company that did odd-lot trading.  An odd lot is one that is not in a multiple of 100.  Suit alleges there was a monopoly b/c very few companies engage in odd lot trading.  Therefore, they were able to cheat a lot of people out of a little money each.  Attempt was to bring this as a class action for people who w/in the time period engaged in the odd lot trading.  Problem is that there were over 6 million people who engaged in odd lot trading & they could only identify 2 million; also, P d/n want to give notice b/c giving notice would cost so much and such little at stake for each.  Court held P must give notice to everyone in the class.
A. Notice was so problematic here b/c of amount that is at stake.  When there is not a lot at stake for each individual P, constitutional requirement of notice, may make it cost prohibitive to bring the suit.
1. There will be some cases where D gets away with it b/c it is not economically viable to sue.  If D steals a lot by stealing a little from a lot of people, D may get away with it.
2. Supreme Court, without changing notice requirement, allows P to define class more narrowly to help reduce this type of problem, like making the class just the people in NY or just the people who traded within certain dates.
B. Fluid class remedy: Assuming P gives notice, there will be a lot of Ps who will not fill out the forms and will not seek a remedy.  What do we do with the other money?  
1. Judge wanted D to stop engaging in illegal conduct and give discounts for future odd lot trades until fund is depleted.
a. This does not provide remedy to all Ps b/c some Ps might not trade in the future; their recovery would depend on how much they buy in the future.
b. This also includes some people who were not Ps (new customers).
2. Holding: Court of appeals said NO b/c there has to be matching; must match remedy with each P; give remedy to people who were wronged, not people who are similarly situated to those who were wronged.  Court cannot force D to give a remedy to someone who was not a plaintiff.  If Ps do not fill out the forms, D does not have to pay them.
a. First the class action may fail because it is too expensive to give notice.
b. Second, class action may not work well because a lot of plaintiffs may not be filling the forms; matching problem; this may result in under-deterrence of D
C. Though Eisen represents court’s view that fluid class remedies generally will not be imposed by courts, they are often created as part of a settlement, or as cy pres (literally, “as near”) after adjudication or settlement, giving remainder of leftover money to some charity or cause somehow associated with Ps.
1. Although Eisen says you cannot force these types of agreements on parties, as a matter of settlement, parties settle on these all the time.
2. Judges have been creative over who gets left-over money
3. ALI is now suggesting that left-over money should go back to Ds after Ps have been compensated and attorneys have been compensated.  But judges are having a great time giving the money away.
4. Fluid class remedies have been allowed in affirmative action cases: Employer giving preference for period of time in future hiring to members of certain class, in order to remedy past discrimination
a. Three ways to reconcile?
i. One way—forget Hatahley.  Forget matching. We want deterrence.
ii. Second: favor matching, except in affirmative action b/c they are an important exception.
iii. Argue that affirmative action fluid remedy is wrong.
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